
CHEMISTRY

BOOKS - MBD CHEMISTRY (ODIA ENGLISH)

CHEMICAL KINETICS

Question Bank

1. Prove that time required for the completion of 3/4 of

reaction of the 1st order reaction is twice the time required

for the completion of half of the reaction.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qPpHC4iNbX0d
https://dl.doubtnut.com/l/_T8xM4gHtNRDH


2. The half life period of 1st order reaction of A is 2 minutes.

How long will it take to reach at  of its initial

concentration.

Watch Video Solution

25 %

3. Define rate of reaction .

Watch Video Solution

4. Define order of reaction.

Watch Video Solution

5. Explain molecularity of a reaction.

https://dl.doubtnut.com/l/_T8xM4gHtNRDH
https://dl.doubtnut.com/l/_bH9v14aajLtX
https://dl.doubtnut.com/l/_TKyvheJNx9DM
https://dl.doubtnut.com/l/_fhjPeCFDOrY2


Watch Video Solution

6. Calculate the unit of 1st order rate constant

Watch Video Solution

7. Give one example of unimolecular reaction.

Watch Video Solution

8. Give one example of bimolecular reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_fhjPeCFDOrY2
https://dl.doubtnut.com/l/_FbUMeNUs6uvh
https://dl.doubtnut.com/l/_tG1OJFsZDfuT
https://dl.doubtnut.com/l/_wHeDWwMr3eEI


9. Write relationship between the rate constant and its

activation energy.

Watch Video Solution

10. The minimum energy which molecules need to acquire

before they can react by collision is known as what ?

Watch Video Solution

11. The slowest step is called the rate determining step of

the multistep reaction. (True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_ao6Pt2mmKTyO
https://dl.doubtnut.com/l/_ZKUUjCxi860b
https://dl.doubtnut.com/l/_DaXMuAeUZAmk
https://dl.doubtnut.com/l/_Rz4XmqDiILTs


12. How catalyst affects the rate of reaction ?

Watch Video Solution

13. Give example of zero order reaction

Watch Video Solution

14. Define threshold energy.

Watch Video Solution

15. If activation energy of a reaction is zero, how does rate

constant of the reaction change with temperature ?

https://dl.doubtnut.com/l/_Rz4XmqDiILTs
https://dl.doubtnut.com/l/_8aLfOGBrFrEG
https://dl.doubtnut.com/l/_pgD0RT6CuddE
https://dl.doubtnut.com/l/_8QVw76bjh4oX


Watch Video Solution

16. Unit of the rate constant for first order reaction is______.

Watch Video Solution

17. The rate constant of 1st order is  . Find its

half life period.

Watch Video Solution

0.0005
− 1

min

18. The half life period of a 1st order reaction is 30 seconds.

Calculate its rate constant.

Watch Video Solution

https://dl.doubtnut.com/l/_8QVw76bjh4oX
https://dl.doubtnut.com/l/_pJcp3Sk0pAuG
https://dl.doubtnut.com/l/_VtWmWO60Qy7C
https://dl.doubtnut.com/l/_JSbQDHEUv3a3


19. How average K.E. of a gas molecule is related to the

temperature ?

Watch Video Solution

20. Define activation energy of a reaction.

Watch Video Solution

21. Name the reaction when hydrolysis of ester in an alkaline

medium takes place.

Watch Video Solution

https://dl.doubtnut.com/l/_JSbQDHEUv3a3
https://dl.doubtnut.com/l/_9FIaQnnr1xu1
https://dl.doubtnut.com/l/_qfiwB0YG04t5
https://dl.doubtnut.com/l/_ZZy8pnWFU0Wi
https://dl.doubtnut.com/l/_unbYu6Fju6Oa


22. What is unit of rate of reaction?

Watch Video Solution

23. Activation energy for a chemical reaction depends on

the nature of the reactant. (True/False)

Watch Video Solution

24. Molecularity of a reaction can never be zero.(True/False)

Watch Video Solution

25. Write the integrated rate equation for 1st order

reaction.

https://dl.doubtnut.com/l/_unbYu6Fju6Oa
https://dl.doubtnut.com/l/_wruO0a5PNtPz
https://dl.doubtnut.com/l/_X9wgprNZyT8O
https://dl.doubtnut.com/l/_bcUqtDMFbiLO


Watch Video Solution

26. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

27. What is the order of reaction if the unit of rate constant

is  ?

Watch Video Solution

litre mol− 1 sec− 1

28. What is the half-life period of a reaction having rate

constant .6.93 × 10− 4 sec− 1

https://dl.doubtnut.com/l/_bcUqtDMFbiLO
https://dl.doubtnut.com/l/_uFv2J6aJawcr
https://dl.doubtnut.com/l/_A2gfp5NHwrn3
https://dl.doubtnut.com/l/_q12iE2RL582B


Watch Video Solution

29. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

30. What is order of reaction ?

Watch Video Solution

31. What is the unit of rate constant of the first order

reaction?

Watch Video Solution

https://dl.doubtnut.com/l/_q12iE2RL582B
https://dl.doubtnut.com/l/_dyvrhiFGUO9J
https://dl.doubtnut.com/l/_tYrciYZkoQ6o
https://dl.doubtnut.com/l/_UVZBGqd3z72B


32. Write two factors which influence the rate of reaction.

Watch Video Solution

33. What is the expression for rate constant for 1st order

reaction ?

Watch Video Solution

34. Rate constant of a 1st order reaction is 0.5 . What is

the half-life period ?

Watch Video Solution

s− 1

https://dl.doubtnut.com/l/_UVZBGqd3z72B
https://dl.doubtnut.com/l/_3eBrqp9Lobl2
https://dl.doubtnut.com/l/_pWvzC6eTQWLt
https://dl.doubtnut.com/l/_X8XWIpvWmofp
https://dl.doubtnut.com/l/_gVoM06E0zbl9


35. Write Arrhenius equation relating activation energy

,temperature(T) and rate const.(K).

Watch Video Solution

(Ea)

36. Define molecularity of a reaction.

Watch Video Solution

37. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_gVoM06E0zbl9
https://dl.doubtnut.com/l/_y8AseRAONupU
https://dl.doubtnut.com/l/_Mp7KXMn0K7SG


38. If unit of the rate constant is  the order of reaction

is______.

Watch Video Solution

sec− 1

39. Unit of the rate constant for first order reaction is______.

Watch Video Solution

40. Rate of reaction is influenced by_____.

Watch Video Solution

41. Acid hydrolysis of ester is a _____ order reaction

https://dl.doubtnut.com/l/_OmLtcskEj48U
https://dl.doubtnut.com/l/_XHAOOc3RkpUU
https://dl.doubtnut.com/l/_iiCnqToGBXvA
https://dl.doubtnut.com/l/_rbM17fr8dgAW


Watch Video Solution

42. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

Watch Video Solution

43. Rusting of iron is a _____ reaction.

Watch Video Solution

44. Unit of the rate of reaction is_____.

Watch Video Solution

https://dl.doubtnut.com/l/_rbM17fr8dgAW
https://dl.doubtnut.com/l/_H2MAiOybuwtS
https://dl.doubtnut.com/l/_YXTFranvoVHu
https://dl.doubtnut.com/l/_ThrfyCZZuFMj
https://dl.doubtnut.com/l/_bvh3CE2ZX5YG


45. Rate of reaction_____as tempersture increases.

Watch Video Solution

46. Arrhenius equation is given by_____.

Watch Video Solution

47. Acid hydrolysis of ester having molecularity _____ .

Watch Video Solution

48. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

https://dl.doubtnut.com/l/_bvh3CE2ZX5YG
https://dl.doubtnut.com/l/_5NxeucqCPSAR
https://dl.doubtnut.com/l/_i0LqZnLXHq2g
https://dl.doubtnut.com/l/_AT5ielvmxeHL


Watch Video Solution

49. Alkali hydrolysis of ester is a first order reaction .is it

true or false

Watch Video Solution

50. Rusting of iron is a _____ reaction.

Watch Video Solution

51. Unit of the rate of reaction is 

Watch Video Solution

mol− 1 sec− 1

https://dl.doubtnut.com/l/_AT5ielvmxeHL
https://dl.doubtnut.com/l/_svjjarMVbDjA
https://dl.doubtnut.com/l/_MGIFOlRnJunV
https://dl.doubtnut.com/l/_pf9Onq0jgP3T
https://dl.doubtnut.com/l/_qdypcEAMoNkz


52. Rate of reaction decreases as temperature increases.is it

true or false

Watch Video Solution

53. If unit of rate constant is  lit  order of the

reaction is ____

Watch Video Solution

mol− 1 sec− 1

54. Unit of the rate constant for first order reaction is______.

Watch Video Solution

https://dl.doubtnut.com/l/_qdypcEAMoNkz
https://dl.doubtnut.com/l/_FAOkX2fywIXF
https://dl.doubtnut.com/l/_N2bIDudaEPKM


55. Acid hydrolysis of ester is a second order reaction.

Watch Video Solution

56. Derive an expression for the rate constant of first order

reaction. The rate constant of first order reaction is

. What is the half-life?

Watch Video Solution

0.346  min− 1

57. The half-life period of a reaction is 60 s. Calculate its rate

constant.

Watch Video Solution

https://dl.doubtnut.com/l/_iMKuUbW838T3
https://dl.doubtnut.com/l/_i9opd3WT3PJQ
https://dl.doubtnut.com/l/_AvoJmWyRUNJq
https://dl.doubtnut.com/l/_oRBWbNlc5sWl


58. The rate constant of a first order reaction is

. Find the half-life of the reaction.

Watch Video Solution

k = 7.39 × 10− 5  s − 1

59. The rate constant of a first order reaction is .

What is its half-life period?

Watch Video Solution

0.60  sec− 1

60. Calculate the half life of the first order reaction from

their rate constants given as:

Watch Video Solution

https://dl.doubtnut.com/l/_oRBWbNlc5sWl
https://dl.doubtnut.com/l/_HuoapQgvfViE
https://dl.doubtnut.com/l/_gTrZvRtuir8A
https://dl.doubtnut.com/l/_1Y9eSwci0V85


61. Activation energy of a reaction is:

Watch Video Solution

62. Write the rate law for a first order reaction.

Watch Video Solution

63. Rate of which reactions increases with temperature:

Watch Video Solution

64. Find the rate of reaction of the given reaction

W t h Vid S l ti

2NO + 2H2 → N2 + 2H2O

https://dl.doubtnut.com/l/_1Y9eSwci0V85
https://dl.doubtnut.com/l/_f2aLiPlfqht7
https://dl.doubtnut.com/l/_KgaBTYQNl9As
https://dl.doubtnut.com/l/_AaBmjWXbKZLZ


Watch Video Solution

65. What is order of reaction ?

Watch Video Solution

66. Explain molecularity of a reaction.

Watch Video Solution

67. What is the effect of catalyst on activation energy?

Watch Video Solution

https://dl.doubtnut.com/l/_AaBmjWXbKZLZ
https://dl.doubtnut.com/l/_27W2XLVpVyiJ
https://dl.doubtnut.com/l/_wh3LEZsHSldA
https://dl.doubtnut.com/l/_8NT7eWuuZghB


68. Why do reaction rates depend on temperature? Explain.

Watch Video Solution

69. A first order reaction is  completed in 30 minutes.

Calculate the half-life.

Watch Video Solution

30 %

70. Rate of reaction is influenced by_____.

Watch Video Solution

https://dl.doubtnut.com/l/_5R777oL5igoP
https://dl.doubtnut.com/l/_BXQv0Zs6MzPP
https://dl.doubtnut.com/l/_IK2qQkEQwBYq


71. What is the half life period of a first order reaction

having rate constant ?

Watch Video Solution

10− 2 sec− 1

72. Calculate the rate constant of a reaction (first order)

which is 90% complete in 10 min.

Watch Video Solution

73. Activation energy is low for fast reactions. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_J3p7hN00JPAy
https://dl.doubtnut.com/l/_mSpyixCmRQl7
https://dl.doubtnut.com/l/_ZZb3YcyjIi1v


74. What is zero order reaction? Give one example.

Watch Video Solution

75. Name any two factors which influence the rate of

reaction.

Watch Video Solution

76. The rate constant of a first order reaction is

. Find the half-life of the reaction.

Watch Video Solution

k = 7.39 × 10− 5  s − 1

https://dl.doubtnut.com/l/_AdmWkRHo7zmb
https://dl.doubtnut.com/l/_lPUklK5pCjOj
https://dl.doubtnut.com/l/_hXkxceVWikF2


77. The half-life period of a first order reaction is 60 seconds.

Calculate the rate constant.

Watch Video Solution

78. The rate of reaction is doubled when the temperature

changes from  to . Calculate the energy of

activation.

Watch Video Solution

27∘C 37∘C

79. For a first order reaction, it takes 16 min to complete

50% reaction. How much time does it take to complete 75%

reaction?

https://dl.doubtnut.com/l/_LiNOlep2JsVk
https://dl.doubtnut.com/l/_vI7XdAl3aesn
https://dl.doubtnut.com/l/_7eQfDZjDjJe0


Watch Video Solution

80. The rate constant of a reaction is  at .

Calculate the value of activation energy for the reaction.

View Text Solution

1.5 × 10s− 1 100∘C

81. A 1st order reaction is  complete in 20 minutes.

Calculate the time it will take the reaction to complete

.

Watch Video Solution

20 %

80 %

82. State the role of activated complex in a reaction and

state its relation with activation energy.

https://dl.doubtnut.com/l/_7eQfDZjDjJe0
https://dl.doubtnut.com/l/_CaGd6XpJXh7C
https://dl.doubtnut.com/l/_S6kVMaIC7Rxz
https://dl.doubtnut.com/l/_2S4bLbPMKWuM


Watch Video Solution

83. For a first order reaction, it takes 16 min to complete

50% reaction. How much time does it take to complete 75%

reaction?

Watch Video Solution

84. The rate of most reactions become double when their

temperature is raised from 298 K to 308 K. Calculate their

activation energy. 

(Given,  )

Watch Video Solution

R = 8.314  J mol − 1

https://dl.doubtnut.com/l/_2S4bLbPMKWuM
https://dl.doubtnut.com/l/_MRpgMvMvZZwe
https://dl.doubtnut.com/l/_9ECLnbB56vk2
https://dl.doubtnut.com/l/_m8zIrvGGjuGa


85. State the rate equation for a first order reaction. Derive

the half-life period from the rate equation. A first order

reaction takes 69.3 minutes for 50% completion. How much

time will be needed for 80% completion?

Watch Video Solution

86. Define the following terms. 

Pseudo first order reaction.

Watch Video Solution

87. What do you mean by molecularity and order of

reaction? Give one example each of the first and second

order reaction.

https://dl.doubtnut.com/l/_m8zIrvGGjuGa
https://dl.doubtnut.com/l/_QHopTFA3K1kY
https://dl.doubtnut.com/l/_LeNk8JoUuOve


Watch Video Solution

88. Derive the half life period from the 1st order rate

equation.

Watch Video Solution

89. State the rate equation for a first order reaction. Derive

the half-life period from the rate equation. A first order

reaction takes 69.3 minutes for 50% completion. How much

time will be needed for 80% completion?

Watch Video Solution

https://dl.doubtnut.com/l/_LeNk8JoUuOve
https://dl.doubtnut.com/l/_8EFjfamkfCuY
https://dl.doubtnut.com/l/_s11Zc3SHaNKS


90. What is zero order reaction? Give one example.

Watch Video Solution

91. Write notes on half-life period.

Watch Video Solution

92. What are the various factors affecting the rate of

reaction.

Watch Video Solution

93. Give distinction between order and molecularity.

https://dl.doubtnut.com/l/_QWO5qYc5of3s
https://dl.doubtnut.com/l/_hOfWOYxdZB9M
https://dl.doubtnut.com/l/_3g9LpBoKKv80
https://dl.doubtnut.com/l/_S2G7XkRSlXt3


Watch Video Solution

94. Discuss collision theory with its limitations.

Watch Video Solution

95. Write notes on: Arrhenius equation

Watch Video Solution

96. Write short notes on : 

activation energy

Watch Video Solution

https://dl.doubtnut.com/l/_S2G7XkRSlXt3
https://dl.doubtnut.com/l/_LGyivu0gskMX
https://dl.doubtnut.com/l/_zLEHS53WKLtQ
https://dl.doubtnut.com/l/_MeDE4x0jzTvt
https://dl.doubtnut.com/l/_H6wb8naC1NU0


97. The sum of the power to which the concentration of

substance appears in the rate expression is known as:

A. Rate of reaction

B. Molecularity of reaction

C. Order of reaction

D. None of the above

Answer: C

Watch Video Solution

98. If concentration of reactants is increased by ‘X’, the rate

constant K becomes:

https://dl.doubtnut.com/l/_H6wb8naC1NU0
https://dl.doubtnut.com/l/_FAxaXkG1erqC


A. 

B. 

C. K

D. 

Answer: C

Watch Video Solution

eK /X

(K/X)

( )
X

K

99. The hydrolysis of ethyl acetate,

 is:

A. First order

B. Second order

C. Third order

CH3COOC2H5 + H2O
H +

−−→ CH3COOH + C2H5OH

https://dl.doubtnut.com/l/_FAxaXkG1erqC
https://dl.doubtnut.com/l/_1PZXq9MUrTWA


D. Zero order

Answer: A

Watch Video Solution

100. The rate for the reaction,

 is given by rate=

. The rate of the reaction is:

A. Doubled on doubling the concentration of NaOH

B. Halved on reducing the concentration of RCl to half

C. Decreased on increasing the temperature of the

reaction

RCl + NaOH(aq) → ROH + NaCl

K1[RCl]

https://dl.doubtnut.com/l/_1PZXq9MUrTWA
https://dl.doubtnut.com/l/_4KU4U1l8br19


D. Unaffected by increasing the temperature of the

reaction

Answer: B

Watch Video Solution

101. The rate of chemical reaction depends on the nature of

chemical reactions, because:

A. The threshold energy level differs from one reaction

to another

B. Some of the reactant are solid at room temperature

C. Some of the reactants are coloured

D. All

https://dl.doubtnut.com/l/_4KU4U1l8br19
https://dl.doubtnut.com/l/_I7CyLseNQwiS


Answer: A

Watch Video Solution

102. Which statement is correct:

A. Reactions with low activation energy are usually

exothermic

B. The rate law sometimes enables to deduce the

mechanism of a reaction

C. The rate law for a reaction is an algebraic ,expression

relating the forward reaction rate to product

concentration

https://dl.doubtnut.com/l/_I7CyLseNQwiS
https://dl.doubtnut.com/l/_Yn3pfj8CWyP6


D. Increase in the total pressure of a gas phase reaction

increase the fraction of collisions effective in

producing reactions

Answer: D

Watch Video Solution

103. For the reaction  , following

mechanism has been provided: 

 


 


Thus rate expression of the above reaction can be written

as:

2NO2 + F2 → 2NO2F

NO2 + F2

slow
−−→ NO2F + F

NO2 + F
FAST
−−−→ NO2F

https://dl.doubtnut.com/l/_Yn3pfj8CWyP6
https://dl.doubtnut.com/l/_ghZsnXxabDuc


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r = k[NO2]2[F2]

r = k[NO2][F2]

r = k[NO2]

r = k[F2]

104. For a reaction for which the activation energies of

forward and reverse reactions are equal:

A. 

B. 

C. The order is zero

ΔH = O

ΔS = O

https://dl.doubtnut.com/l/_ghZsnXxabDuc
https://dl.doubtnut.com/l/_hETGpnHWoqLK


D. There is no catalyst

Answer: A

Watch Video Solution

105. The threshold energy of a chemical reaction depends

upon:

A. Nature of reacting species

B. Temperature

C. Concentration of species

D. Number of collisions per unit time or collision

frequency

https://dl.doubtnut.com/l/_hETGpnHWoqLK
https://dl.doubtnut.com/l/_Wk0s1UOKa1uM


Answer: A

Watch Video Solution

106. The order of reaction can be deduced from

A. Chemical equation

B. Experiments

C. Rate constant

D. Thermochemical equation

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Wk0s1UOKa1uM
https://dl.doubtnut.com/l/_t2fsqKTni4Zp


107. Which rate expression suggests an over all order of 0.5

for the reaction involving substances X, Y, Z:

A. Rate = 

B. Rate

C. Rate

D. Rate

Answer: C

Watch Video Solution

K[X][Y ][Z]

= K[X]0.5[Y ]0.5[Z]0.5

= K[X]1.5[Y ] − 1[Z]0

= K[X]
[Y ]

0

[Z]
2

108. For a chemical reaction , it is found that the

rate of reaction doubles when the conc, of 'A' is increased

four times. The order of reaction is

A → B

https://dl.doubtnut.com/l/_Ltu3IU20UUWt
https://dl.doubtnut.com/l/_ubDTGKnMuWpU


A. 2

B. 1

C. 

D. Zero order

Answer: C

Watch Video Solution

1/2

109. 75% of a first order reaction was completed in 32

minutes, 50% of the reaction will be completed in

A. 24 minute

B. 16 minute

C. 8 minute

https://dl.doubtnut.com/l/_ubDTGKnMuWpU
https://dl.doubtnut.com/l/_m63RhiE5rIeD


D. 4 minute

Answer: B

Watch Video Solution

110. The rate constant (K) for the reaction  Product

was found to be  after15 sec, 

 after 30 sec and

 after 50sec. The order of reaction

is:

A. 2

B. 3

C. Zero

2A →

2.5X10− 5Lmol− 1 sec− 1

2.5X10− 5Lmol− 1 sec− 1

2.55X10− 5Lmol− 1 sec− 1

https://dl.doubtnut.com/l/_m63RhiE5rIeD
https://dl.doubtnut.com/l/_XICrh6ji2Hye


D. 1

Answer: A

Watch Video Solution

111. The rate of reaction becomes 2 times for every 

rise in temperature. How the rate of reaction will increases

when temperature is increased from  to 

A. 16

B. 32

C. 64

D. 128

10∘C

30∘C 80∘C

https://dl.doubtnut.com/l/_XICrh6ji2Hye
https://dl.doubtnut.com/l/_vttGqqyyM6zL


Answer: B

Watch Video Solution

112. A first order reaction has a half life period of  sec. At

 reactant concentration, rate will be:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

69.3

0.10mollitre− 1

10− 4M sec− 1

10− 3M sec− 1

10− 1M sec− 1

6.93X10− 1M sec− 1

https://dl.doubtnut.com/l/_vttGqqyyM6zL
https://dl.doubtnut.com/l/_NO1pdRD4be29
https://dl.doubtnut.com/l/_Q2fjyEEX4A49


113. The rate of a reaction  product, increases by a

factor of 100, when cone, of ‘A’ is increased 10 fold. The order

of the reaction is

A. 1

B. 2

C. 10

D. 100

Answer: B

Watch Video Solution

A →

114. The rate of reaction between two reactants A and B is

expressed as rate = . On doubling theK[A][B]2

https://dl.doubtnut.com/l/_Q2fjyEEX4A49
https://dl.doubtnut.com/l/_VwrdEBN0ALfP


concentration of both the reactants A and B, the reaction

rate increases by

A. 3 times

B. 4 times

C. 6 times

D. 8 times

Answer: C

Watch Video Solution

115. When ethyl acetate was hydrolysed in presence of

, the rate constant was found to be 

But when  was used for

0.1NHCI

5.40X10− 5 sec− 1 0.1NH2SO4

https://dl.doubtnut.com/l/_VwrdEBN0ALfP
https://dl.doubtnut.com/l/_fdv2kbp0uXhd


hydrolysis, the rate was used for hydrolysis, the rate to be

. Thus it may be concluded that:

A.  is stronger than HCI

B.  is weaker than HCI

C.  and HCl both have the same strength

D. The data are not sufficient to compare the strength of

 and HCI

Answer: A

View Text Solution

6.25X10− 5 sec− 1

H2SO4

H2SO4

H2SO4

H2SO4

116. The rate constant of a first order reaction is

At a reactant concentration of , the4X10− 3 sec− 1 0.02M

https://dl.doubtnut.com/l/_fdv2kbp0uXhd
https://dl.doubtnut.com/l/_lmOUoprWC8i0


rate of reaction would be:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8X10− 5M sec− 1

4X10− 3M sec− 1

2X10− 1M sec− 1

4X10− 1M sec− 1

117. The rate constant of order reaction has units :

A. 

B. 

nth

litre1 −nmol1 −n sec− 1

mol1 −nmol1 −n sec− 1

https://dl.doubtnut.com/l/_lmOUoprWC8i0
https://dl.doubtnut.com/l/_bSUfnDjfJ1xo


C. 

D. None of these

Answer: C

Watch Video Solution

mol1 −nlitren− 1 sec− 1

118. The Arrhenius equation expressing the effect of

temperature on the rate constant of reaction is:

A. 

B. 

C. 

D. 

k =
Ea

RT

k = Ae−Ea/RT

k = loge[ ]
Ea

RT

k = e−Ea/RT

https://dl.doubtnut.com/l/_bSUfnDjfJ1xo
https://dl.doubtnut.com/l/_JQSiDVtcG63p


Answer: B

Watch Video Solution

119. Which one of the following does not influence the rate

of reaction?

A. Pressure

B. Concentration of reactant

C. Temperature

D. Molecularity

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JQSiDVtcG63p
https://dl.doubtnut.com/l/_wKDnBlZVmBLE
https://dl.doubtnut.com/l/_Z9d7Hl3Bx2N3


120. On addition of  to , white ppt, occurs:

A. Instantaneously

B. With a measurable speed

C. Slowly

D. None

Answer: A

Watch Video Solution

AgNO3 NaCl

121. The temperature coefficient of a reaction is:

A. The rate constant at a fixed temperature

B. The ratio of rate constant at two temperature

https://dl.doubtnut.com/l/_Z9d7Hl3Bx2N3
https://dl.doubtnut.com/l/_zaZYWFfbg9Rp


C. The ratio of rate constant at two different

temperatures differing by  preferably  and 

D. None of these

Answer: C

Watch Video Solution

100 250C

350C

122. In a reaction, the rate expression is, rate =

,the order of reaction is:

A. 1

B. 2

C. 

k[A][B]2 / 3[C]0

5/3

https://dl.doubtnut.com/l/_zaZYWFfbg9Rp
https://dl.doubtnut.com/l/_GbudZi7hOtPs


D. Zero

Answer: C

Watch Video Solution

123. The elementary step of the reaction

 is found to follow III order kinetics, its

molecularity is:

A. 1

B. 2

C. 3

D. 4

2Na + Cl2 = 2NaCl

https://dl.doubtnut.com/l/_GbudZi7hOtPs
https://dl.doubtnut.com/l/_Mm6tmp8HhCOC


Answer: C

Watch Video Solution

124. If 'a' is the initial concentration of a substance which

reacts according to zero order kinetic and  k'is rate

constant, the time for the reactant to go to completion is,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

k

a/K

2/k

K/a

2K/a

https://dl.doubtnut.com/l/_Mm6tmp8HhCOC
https://dl.doubtnut.com/l/_E3gHUpLLUNIs


125. A reaction varies independent to the concentration of

reactant, then the order of reaction is:

A. Zero

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

126. The rate law for the single step reaction 

is given by

2A + B → 2C

https://dl.doubtnut.com/l/_E3gHUpLLUNIs
https://dl.doubtnut.com/l/_9C2pcmUwf0cV
https://dl.doubtnut.com/l/_aTxRgPeYmJ3T


A. Rate=K[A].[B]

B. 

C. Rate = K[2A].[B]

D. 

Answer: B

Watch Video Solution

Rate = K[A]2. [B]

Rate = K[A]2[B]o

127. The reaction  is started with  of . After 

and  minute, and  of  are left respectively. The

order of reaction.is:

A. 0

B. 2

L → M 10g L 30

90 5g 1.25g L

https://dl.doubtnut.com/l/_aTxRgPeYmJ3T
https://dl.doubtnut.com/l/_fb0SkK8Ekw6e


C. 1

D. 3

Answer: C

Watch Video Solution

128. The activation energy for a reaction is .

The increase in the rate constant when its temperature is

increased from  to  is:

A. 

B. 

C. 

D. 

9.0Kcal/mol

298K 308K

10 %

100 %

50 %

63 %

https://dl.doubtnut.com/l/_fb0SkK8Ekw6e
https://dl.doubtnut.com/l/_QCCHmYp0KWGB


Answer: D

Watch Video Solution

129. In a first order reaction, the concentration of the

reactant is decreased from  to  M in 20 minute.

The rate constant of the reaction would be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.0M 0.25

10
− 1

min

6.931
− 1

min

0.6931
− 1

min

0.06931
− 1

min

https://dl.doubtnut.com/l/_QCCHmYp0KWGB
https://dl.doubtnut.com/l/_yw3GFh28neOh


130. The rate of a chemical reaction doubles for every 

rise in temperature. If the rate is increased by , the

rate of reaction increases by:

A. 29 times

B. 32 times

C. 64 times

D. 128 times

Answer: C

Watch Video Solution

10∘C

60∘C

https://dl.doubtnut.com/l/_yw3GFh28neOh
https://dl.doubtnut.com/l/_0IlZXlUDgHw8


131. The rate of first order reaction  Products, is

 mole .If the concentration of A is 

 mole the rate constant is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A →

7.5 × 10− 4 litre− 1 sec− 1

0.5 litre − 1

3.75 × 10− 4 sec− 1

2.5 × 10− 5 sec− 1

1.5 × 10− 3 sec− 1

8.0 × 10− 4 sec− 1

132. Consider the reaction 2A+B  C+D. If the rate

expression is rate=  and if concentration of the

→

K[A]2[B]1

https://dl.doubtnut.com/l/_hOrE2UiW6NkC
https://dl.doubtnut.com/l/_lx9U8ONrK75t


reactants are increased by three times, the rate of the

reaction will increase by:

A. 9 times

B. 81 times

C. 64 times

D. 27 times

Answer: D

Watch Video Solution

133. An endothermic reaction  have an activation

energy  and the heat of the reaction is 

A → B

15kcal/mol

https://dl.doubtnut.com/l/_lx9U8ONrK75t
https://dl.doubtnut.com/l/_c0HraSPO1uMH


. The activation energy of the reaction  is

:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5kcal/mol B → A

20kcal/mol

15kcal/mol

10kcal/mol

Zero

134. The rate of a reaction is doubled for every  rise in

temperature. The increase in rate as a result of increase in

temperature from  to  is:

10∘C

10∘C 100∘C

https://dl.doubtnut.com/l/_c0HraSPO1uMH
https://dl.doubtnut.com/l/_mLpu0CZnoMc8


A. 112

B. 512

C. 400

D. 256

Answer: B

Watch Video Solution

135. How much faster would a reaction proceed at 

than at  if the activation energy is :

A. 2 times

B. 16 times

C. 11 times

25∘C

0∘C 65kJ

https://dl.doubtnut.com/l/_mLpu0CZnoMc8
https://dl.doubtnut.com/l/_zjkkLpaznGNy


D. 6 times

Answer: C

Watch Video Solution

136. For a reaction A+B  Products, it is observed that

doubling the concentration of B causes the reaction rate to

increase four times, but doubling the concentration of A

has no effect on the rate of reaction. The rate equation is

threfore

A. 

B. 

C. 

→

Rate = K[A]2

Rate = K[B]2

Rate = K[A][B]

https://dl.doubtnut.com/l/_zjkkLpaznGNy
https://dl.doubtnut.com/l/_CAVnHtMNa6WS


D. 

Answer: B

Watch Video Solution

Rate = K[A]

137. The minimum energy which molecules need to acquire

before they can react by collision is known as what ?

A. Kinetic energy

B. Potential energy

C. Threshold energy

D. Activation energy

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_CAVnHtMNa6WS
https://dl.doubtnut.com/l/_pCVmYlo04Vl2


Watch Video Solution

138. Which statement is correct ?

A. Molecularity of a reaction is same as the order of

reaction

B. In some cases order of reaction may be same as the.

molecularity of the reaction

C. Both (a) and (b) are correct

D. All are incorrect

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_pCVmYlo04Vl2
https://dl.doubtnut.com/l/_WtTPpSFfyVWI
https://dl.doubtnut.com/l/_ysk05LJvJ8DL


139. Collision theory satisfactorilly explains for:

A. First order reactions

B. Zero order reactions

C. Bimolecular reactions

D. Any order reactions

Answer: C

Watch Video Solution

140. According to the Arrhenius equation a straight line is.

to be obtained by plotting the logarithm of the rate

constant of a chemical reaction (log k) against:

A. T

https://dl.doubtnut.com/l/_ysk05LJvJ8DL
https://dl.doubtnut.com/l/_PnRjEsyMV4lc


B. log T

C. 

D. 

Answer: C

Watch Video Solution

1/T

log 1/T

141. The inversion of cane sugar into glucose and fructose

is:

A.  order

B. order

C.  order

D. Zero order

I

II

III

https://dl.doubtnut.com/l/_PnRjEsyMV4lc
https://dl.doubtnut.com/l/_STehChsl94WJ


Answer: A

Watch Video Solution

142. Number of mole of a substance present in 1 litre

volume is known as:

A. Activity

B. Molar concentration

C. Active mass

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_STehChsl94WJ
https://dl.doubtnut.com/l/_ygr06JWbbCPM
https://dl.doubtnut.com/l/_Tlhsct1rFQI2


143. The number of molecules of the reactants taking part in

a single step of the reaction tells about:

A. Molecularity of the reaction

B. Mechanism, of the reaction

C. Order of reaction

D. All

Answer: A

Watch Video Solution

144. Rate of a chemical reaction can be kept constant by:

A. Stirring the compounds

https://dl.doubtnut.com/l/_Tlhsct1rFQI2
https://dl.doubtnut.com/l/_mX1w2bUn2AgS


B. Keeping the temperature constant

C. Both (a) and (b)

D. None

Answer: B

Watch Video Solution

145. Which statement about molecularity of a reaction is

wrong:

A. It is the number of molecules of the reactants taking

part in a single step of reaction

B. It is calculated from the reaction mechanism

C. It may be either whole number or fractional

https://dl.doubtnut.com/l/_mX1w2bUn2AgS
https://dl.doubtnut.com/l/_7R0cCSCTP2n9


D. None

Answer: C

Watch Video Solution

146. Inversion of a sugar follows first order rate equation

which can be followed by noting the change in rotation of

the plane of polarization of light in the polarimeter

,  and , t=t and t=0, then, first order

reaction can be written as:

A. 

B. 

C. 

if r∞ rt t = ∞

K = log
1

t

r1 − r∞

r0 − r∞

K = In
1

t

r0 − r∞

rt − r∞

K = In
1

t

r∞ − r0

r∞ − rt

https://dl.doubtnut.com/l/_7R0cCSCTP2n9
https://dl.doubtnut.com/l/_RDwTNuWQoDBD


D. 

Answer: B

Watch Video Solution

K = In
1

t

r∞ − r1

r∞ − r0

147. At  the half life for the decomposition of  is

5.7 hr and is independent of initial pressure of . The

specific rate constant is:

A. 

B. 

C. 

D. None

250∘C N2O5

N2O5

0.693/5.7

0.693 × 5.7

5.7/0.693

https://dl.doubtnut.com/l/_RDwTNuWQoDBD
https://dl.doubtnut.com/l/_vhhX6XIx6pCi


Answer: A

Watch Video Solution

148. For a given reaction .of first order, it takes 20 minute for

the concentration to drop from  to 

litre^-1

litre^-1 M will be:

A. More than 20 minute

B. Less than 20 minute

C. Equal to 20 minute

D. Infinity

1.0Mlitre− 1 0.6M

timerequiredf or theconcentration → dropom0.6M

→ 0.36 litre− 1

https://dl.doubtnut.com/l/_vhhX6XIx6pCi
https://dl.doubtnut.com/l/_LZ0xAsFKiDjB


Answer: C

Watch Video Solution

149. In a first order reaction  was found to be 8

after l0minute. The rate constant is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a/(a − x)

(2.303 × 3 log 2) /10

(2.303 × 2 log 3) /10

10 × 2.303 × 2 log 3

10 × 2.303 × 3 log 2

https://dl.doubtnut.com/l/_LZ0xAsFKiDjB
https://dl.doubtnut.com/l/_BCNAWORMsYmj
https://dl.doubtnut.com/l/_QfJsWaARcJSw


150. For the reaction A + B Product, it is found that the

order of A is 2 and of B is 3 in the rate expression. When

concentration of both is doubled, the rate will increase by:

A. 10

B. 6

C. 32

D. 16

Answer: C

Watch Video Solution

→

151. The rate law of the reaction,  is

represented as Rate . If  is taken in large

2A + B → 2AC

= K[A]2[B] A

https://dl.doubtnut.com/l/_QfJsWaARcJSw
https://dl.doubtnut.com/l/_e7NEL0M1hwU0


excess, the order of the reaction will be,

A. Zero

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

152. If a reaction with  second, has a rate

constant  per second, the order is:

A. Zero

B. 1

t1 /2 = 69.3

10− 2

https://dl.doubtnut.com/l/_e7NEL0M1hwU0
https://dl.doubtnut.com/l/_zXTFIksZ2Hqg


C. 2

D. 3

Answer: B

Watch Video Solution

153. The specific reaction rate constant for a first, order

reaction is  If the initial concentration of

the reaction is  mole per litre, the rate is:

A. 

B. 

C. 

D. 

60 × 10− 4 sec− 1

0.01

60 × 10− 6M sec− 1

36 × 10− 4M sec− 1

60 × 10− 2M sec− 1

36 × 10− 1M sec− 1

https://dl.doubtnut.com/l/_zXTFIksZ2Hqg
https://dl.doubtnut.com/l/_9FFWDfKTSyZ4


Answer: A

Watch Video Solution

154. K for a zero order reaction  If

the concentration of the reactant after 25 sec is 0.5 M, the

initial concentration must have been:

A. 0.5M

B. 1.25M

C. 12.5M

D. 1.0M

Answer: A

Watch Video Solution

2 × 10− 2molL− 1 sec− 1

https://dl.doubtnut.com/l/_9FFWDfKTSyZ4
https://dl.doubtnut.com/l/_WMHA7cE15UnZ


155. A first order reaction is carried out with an initial

concentration of 10 mole per litre and  of the reactant

changes into the product. Now if the same - reaction is

carried out with an initial concentration of
 5 mol per litre

the percentage of the reactant changing to the product is:

A. 40

B. 80

C. 160

D. Cannot be calculated

Answer: B

Watch Video Solution

80 %

https://dl.doubtnut.com/l/_WMHA7cE15UnZ
https://dl.doubtnut.com/l/_AL6Yv03gQUEU


156. What fraction of a reactant showing first order remains

after 40 minute if is 20 minute ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1 /2

1/4

1/2

1/8

1/6

157. Radioactive decay follows…..order kinetics.

A. Zero

https://dl.doubtnut.com/l/_FfKXsmeaU9y7
https://dl.doubtnut.com/l/_oI6sl2DPFCxZ


B. I

C. II

D. III

Answer: B

Watch Video Solution

158. In the reaction, A+ 2B  3C+D which of the following

expression does not describe changes in the. concentration

of various species as a function of. time:

A. 

B. 

C. 

→

=
d[C]

dt

−3d[A]

dt

=
3d[D]

dt

d[C]

dt

=
3d[B]

dt

−2d[C]

dt

https://dl.doubtnut.com/l/_oI6sl2DPFCxZ
https://dl.doubtnut.com/l/_xF3Jtw33SqlH


D. 

Answer: D

Watch Video Solution

=
2d[B]

dt

d[A]

dt

159. The decomposition of  by 

follows first order kinetics. Select the incorrect statement.

A. The reaction is bimolecular

B. The reaction is unimolecular

C. 

D. None of the above

Answer: C

N2O5 2N2O5 → 4NO2 + O2

t1 / 2∞a ∘

https://dl.doubtnut.com/l/_xF3Jtw33SqlH
https://dl.doubtnut.com/l/_vvyuRTixO4Ib


Watch Video Solution

160. For an endothermic reaction where,  represent the

enthalpy of the reaction in , the minimum value for

energy of activation will be

A. Less than 

B. Zero

C. More than 

D. Equal to 

Answer: C

Watch Video Solution

ΔH

kJ/mol

ΔH

ΔH

ΔH

https://dl.doubtnut.com/l/_vvyuRTixO4Ib
https://dl.doubtnut.com/l/_hBN70UCGa5x8


161. The half life for a reaction is…..of temperature:

A. Independent

B. increase with increase

C. Decreased with increase

D. Dependent

Answer: C

Watch Video Solution

162. The rate-of chemical reaction (except zero order):

A. Decreases from moment to moment

B. Remains constant, throughout

https://dl.doubtnut.com/l/_Rht73jjU9HOo
https://dl.doubtnut.com/l/_CltN4nA0ftLo


C. Independent of the order of reaction

D. None of the above

Answer: A

Watch Video Solution

163. Acid hydrolysis of ester is a _____ order reaction

A. I order reaction

B. Bimolecular reaction

C. Pseudo unimolecular reaction

D. All

Answer: D

https://dl.doubtnut.com/l/_CltN4nA0ftLo
https://dl.doubtnut.com/l/_unDwtn0IdLjB


Watch Video Solution

164. For a reaction of II order kinetics,  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

t1 /2

∝ a

∝ a− 3

∝ a2

∝ a− 1

165. The reaction,

CH3COOC2H5 + NaOH → CH3COONa + C2H5OH

https://dl.doubtnut.com/l/_unDwtn0IdLjB
https://dl.doubtnut.com/l/_eEjCoHdKGRTd
https://dl.doubtnut.com/l/_PhfjSFXvNS2F


is:

A. Bimolecular reaction

B. II order reaction

C. Both (a) and (b)

D. None of the above

Answer: C

Watch Video Solution

166. The rate for a first order reaction is

 and the initial concentration

of the reactant is 1 M,  is equal to:

A. 

0.6932 × 10− 2molL− 1
− 1

min

t1 / 2

0.6932 × 10− 2 min

https://dl.doubtnut.com/l/_PhfjSFXvNS2F
https://dl.doubtnut.com/l/_oSN9Vpi3hSfR


B. 

C. 100minute

D. 6.932minute

Answer: C

Watch Video Solution

0.6932 × 10− 2

167. The rate constant for a second order reaction is

. How long will it take a IM solution to

be reduced to 0.5 M:

A.  minute

B.  minute

C.  minute

8 × 10− 5M − 1
− 1

min

8.665x103

8xIO− 5

1.25x104

https://dl.doubtnut.com/l/_oSN9Vpi3hSfR
https://dl.doubtnut.com/l/_OTiXDgYT6MDB


D. minute

Answer: C

Watch Video Solution

4x10− 5

168. For a first order reaction A  Products, the rate of

reaction at [A] = 0.2 M is . The half life

period for the reaction is:

A. 832 min

B. 440 min

C. 416 min

D. 14 min

→

10− 2mollitre− 1
− 1

min

https://dl.doubtnut.com/l/_OTiXDgYT6MDB
https://dl.doubtnut.com/l/_FKT1AOPajISF


Answer: A

Watch Video Solution

169. For , The

activation energy of the forward reaction is 85 kJ .

The activation energy for backward reaction is…….kJ :

A. 65

B. 105

C. 85

D. 40

Answer: B

Watch Video Solution

A + B → C + D, ΔH = − 20kJmol− 1

mol− 1

mol− 1

https://dl.doubtnut.com/l/_FKT1AOPajISF
https://dl.doubtnut.com/l/_knprKVG4pEBa


170. In a reaction 2A  Products: the concentration of A

decreases from  to  in 10

minutes. The rate of reaction during this interval is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

→

0.5mollitre− 1 0.4mollitre− 1

0.05M
− 1

min

0.005M
− 1

min

0.5M
− 1

min

5M
− 1

min

https://dl.doubtnut.com/l/_knprKVG4pEBa
https://dl.doubtnut.com/l/_pJNyDU6zLjcW


171. The rate constant is numerically same for three

reactions of 1st, 2nd and 3rd order respectively. If conc, of

the reactant is more than 1M, which one is true for the rates

of the three reactions ?

A. 

B. 

C. 

D. All

Answer: C

Watch Video Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

https://dl.doubtnut.com/l/_SnwifUjg7K1M


172. In the above problem if concentration of reactant is less

than 1 M then:

A. 

B. 

C. 

D. All

Answer: B

View Text Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

173. In the above problem if concentration of reactant is 1 M

then:

https://dl.doubtnut.com/l/_Y5TFLLhpx047
https://dl.doubtnut.com/l/_vCzeVwpRlQXm


A. 

B. 

C. 

D. All

Answer: A

View Text Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

174. The unit of rate constant for the reaction obeying rate

expression,  IS:

A. 

B. 

C. 

r = K[A]1[B]2 / 3

Mol− 2 / 3litre2 / 3time− 1

Mol2 / 3litre− 2 / 3time− 1

Mol− 5 / 3litre− 2 / 3time− 1

https://dl.doubtnut.com/l/_vCzeVwpRlQXm
https://dl.doubtnut.com/l/_ucFCYRI49rka


D. None of these

Answer: A

Watch Video Solution

175. For a reaction, 

The expression for will be:

A. 

B. 

C. 

D. 

Answer: B

2A + B → C + D, = K[A]2[B]
d[A]

dt
d[B]

dt

K[A]2[B]

( )K[A]2[B]
1

2

K[A]2[2B]

K[2A]2[B]

https://dl.doubtnut.com/l/_ucFCYRI49rka
https://dl.doubtnut.com/l/_pxjccf1JEyG8


Watch Video Solution

176. The rate constant  of one reaction is found to be

double than that of rate constant  of another reaction.

Then the relation between the corresponding activation

energies of the two reactions  can be

represented as,

A. 

B. 

C. 

D. None of the above

Answer: D

Watch Video Solution

Ka

Ka' '

Ea' and Ea' '

E1 > E2

E1 < E2

E1 = E2

https://dl.doubtnut.com/l/_pxjccf1JEyG8
https://dl.doubtnut.com/l/_18ry9Py0YHIU


177. In many reactions, the reaction proceeds in a sequence

of steps, so the overall rate is determined by:

A. Outer of different steps

B. Slowest step

C. Molecularity of the steps

D. Fastest step

Answer: B

Watch Video Solution

178. Which statement is true ?

https://dl.doubtnut.com/l/_18ry9Py0YHIU
https://dl.doubtnut.com/l/_KgXQBgZAvbfj
https://dl.doubtnut.com/l/_EkVpKrrEKEbG


A. Endothermic reactions have higher activation

energies than exotlhermic reactions

B. The specific rate constant for a reaction is

independent of the concentration of the reacting

species

C. There is a single rate determining step in any reaction

mechanism

D. None of the above

Answer: B

View Text Solution

https://dl.doubtnut.com/l/_EkVpKrrEKEbG


179. The rate law of the reaction,  is

represented as Rate . If  is taken in large

excess, the order of the reaction will be,

A. zero

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

2A + B → 2AC

= K[A]2[B] A

180. The rate of the elementary reaction,

 when the volume of the reaction2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_7s4J3x5z044F
https://dl.doubtnut.com/l/_DTu5ir8GzvYr


vessel is doubled:

A. Will grow eight times of its initial rate

B. Reduce to one-eight of its initial rate

C. Will grow four times of its initial rate

D. Reduce to one-fourth of its initial-rate

Answer: B

Watch Video Solution

181. Which statement is correct ?

A. Law of mass action and rate law expressions are same

for single step reactions

https://dl.doubtnut.com/l/_DTu5ir8GzvYr
https://dl.doubtnut.com/l/_SzQdDEMcwBa2


B. Order of the slowest elementary reaction of a complex

reaction, gives the order of the complex reaction

C. Both order and molecularity have normally a

maximum value of 3

D. All

Answer: D

Watch Video Solution

182. Rate of which reactions increases with temperature:

A. Of any reaction

B. Of exothermic reactions

https://dl.doubtnut.com/l/_SzQdDEMcwBa2
https://dl.doubtnut.com/l/_m5gM4v4KFItv


C. Of endothermic reactions

D. Of none

Answer: A

Watch Video Solution

183. Which will lead to a change in the rate constant K of a

reaction:

A. A change in the pressure

B. Change in temperature

C. Change in the volume of the reaction vessel

D. All

https://dl.doubtnut.com/l/_m5gM4v4KFItv
https://dl.doubtnut.com/l/_jZo4a4gZ4ujo


Answer: B

Watch Video Solution

184. For a given reaction half life period was found to be

directly proportional to the initial concentration of the

reactant. The order is:

A. Zero

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jZo4a4gZ4ujo
https://dl.doubtnut.com/l/_iRI3zsL28Dam


185. The reaction , obey.s the

following mechanism:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2NO + Br2 → 2NOBr

r = [NO]2[Br2]

r = K[NO][Br2]

r = K[NO][Br2]2

r = K[NOBr2]

186. Activation energy of a reaction is:

https://dl.doubtnut.com/l/_iRI3zsL28Dam
https://dl.doubtnut.com/l/_V7duBrwLyblP
https://dl.doubtnut.com/l/_xySbhHCQ0sIw


A. The energy released during the reaction

B. The energy evolved when activated complex is formed

C. Minimum amount of energy needed to overcome the

potential barrier of reaction

D. The energy needed to form one mole of the product

Answer: C

Watch Video Solution

187. According to law of mass action, the rate of reaction is

directly proportional to:

A. Active masses of reactants

B. Equilibrium constant

https://dl.doubtnut.com/l/_xySbhHCQ0sIw
https://dl.doubtnut.com/l/_nCPxRWBLggTg


C. Active masses of products

D. Pressure

Answer: A

Watch Video Solution

188. According to Histogen theory, plerome gives rise to:

A. Collisions are sufficiently violent

B. All collision are responsible for reaction

C. All collisions are effective

D. Only highly energies molecules have enough energy

to react

https://dl.doubtnut.com/l/_nCPxRWBLggTg
https://dl.doubtnut.com/l/_Fo9aqKZ2HqpO


Answer: D

Watch Video Solution

189. Point out the incorrect statement:

A. Rate law is an experimental value

B. Law of mass action is a theoretical proposal

C. Rate law is more informative .than law of mass action

for developing mechanism

D. Rate law is always different from, the expression of

law of mass action

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_Fo9aqKZ2HqpO
https://dl.doubtnut.com/l/_jT4CL77MU7PE


Watch Video Solution

190. For the hydrolysis of esters in alkaline medium rate

expression is : =K[Ester][Alkali] In case alkali used

is in excess, then the overall order of the reaction is:

A. Zero

B. First

C. Same

D. Third

Answer: B

Watch Video Solution

−
d[ester]

dt

https://dl.doubtnut.com/l/_jT4CL77MU7PE
https://dl.doubtnut.com/l/_hZLNVicsC0Tp


191. The rate of reaction,  is given by: 


 . The order of the

reaction is:

A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

A + B + C → P

r = − = K[A]1 / 2[B]1 / 2[C]1 / 4d[A]

dt

1/2

5/4

192. On increasing the temperature by 10 K in the case of

slow reactions:

https://dl.doubtnut.com/l/_V9z0UJkkDzg3
https://dl.doubtnut.com/l/_EHuJH8IB9Kky


A. No. of collisions get doubled

B. Value of rate constant increase

C. Energy of activation increases

D. None of the above

Answer: D

Watch Video Solution

193. At room temperature, the reaction between NO and 

to give  is the fast, while that between CO and is

slow. It is due to:

A. CO is smaller in size than that of NO

B. CO is poisonous

O2

NO2 O2

https://dl.doubtnut.com/l/_EHuJH8IB9Kky
https://dl.doubtnut.com/l/_cEZj4y9hhDOr


C. The activation energy for the reaction,

is less then 

D. None of these

Answer: C

Watch Video Solution

2NO + O2 → 2NO2 2CO + O2 → 2CO2

194. The reaction,  follow zero order kinetics.

The differential rate equation for the reaction is:

A. 

B. 

C. 

D. 

2A → B + C

= K[A]0dx

dt

= K[A]2dx

dt

= K[B][C]
dx

dt

= K[A]
dx

dt

https://dl.doubtnut.com/l/_cEZj4y9hhDOr
https://dl.doubtnut.com/l/_c0SRlItARGLz


Answer: A

Watch Video Solution

195. Given that K is the rate constant for some order of any

reaction at temp T then the value of _____.

(where A is the arrhenius constant):

A. 

B. A

C. 2.303A

D. log A

Answer: D

Watch Video Solution

T lim → ∞logK

A/2.303

https://dl.doubtnut.com/l/_c0SRlItARGLz
https://dl.doubtnut.com/l/_XSTXfU0DMcYQ


196. In the following first order competing reactions: 

A + Reagent Product 


B + Reagent Product 


The ratio of  if only 50% of B will have been

reacted.when 94% of A has been reacted is:

A. 4.06

B. 0.246

C. 2.06

D. 0.06

Answer: A

Watch Video Solution

→

→

K1

K2

https://dl.doubtnut.com/l/_XSTXfU0DMcYQ
https://dl.doubtnut.com/l/_2zWTGOb9aoa2


197. In gaseous reactions important for-the understanding

of the upper atmosphere  and O react bimolecularly to

form two OH radicals.  for this reaction is 72 kJ at 500 K

and  is 77 kJ , then  for the bimolecular

recombination of two OH radicals to form  and O is::

A. 3kj

B. 4kj 

C. 5kj 

D. 7kj

Answer: C

Watch Video Solution

H2O

ΔH

Ea mol− 1 Eb

H2O

mol− 1

moll− 1

moll− 1

mol− 1

https://dl.doubtnut.com/l/_HYBv1HLemM7n


198. From the following data, the activation energy for the

reaction (cal/mol):

A. 

B. 

C. 

D. `3xx10^4

Answer: A

View Text Solution

4 × 104

2 × 104

8 × 104

199. The hydrolysis of ester was carried out separately with

0.05 N HCl and 0.05 N . Which of the following will

be true:

H2SO4

https://dl.doubtnut.com/l/_phS9xXHkeRFW
https://dl.doubtnut.com/l/_6R6KCD96KVR6


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

KHCI > KH2SO4

KH2SO4 > KHCL

KH2SO4 = 2KHCL

KH2SO4 = KHCL

200. For a reaction  Products, the rate of the

reaction was doubled when the concentration of A was

doubled. When the concentration of A and B were doubled,

the rate was again doubled, the order of the reaction with

respect to A and B are:

A + B →

https://dl.doubtnut.com/l/_6R6KCD96KVR6
https://dl.doubtnut.com/l/_vggioyuxyWxa


A. 1,1

B. 2,0

C. 1,0

D. 0,1

Answer: C

Watch Video Solution

201. The time for half of a first order reaction is l hr. What is

the time taken for  completion of the reaction:

A. 1 hour

B. 2 hour

C. 3 hour

87.5 %

https://dl.doubtnut.com/l/_vggioyuxyWxa
https://dl.doubtnut.com/l/_VLFbjUzZ4rHq


D. 4 hour

Answer: C

Watch Video Solution

202. The rate constant, the activation energy and the

Arrhenius parameter of a chemical reaction at  are 

 and 

respectively. The value of the rate constant as T  is:

A. 

B. 

C. Infinity

D. 

25∘C

3.0 × 10− 4S − 1, 104.4kjmol− 1 6.0 × 1014s− 1

→ ∞

2.0 × 1018s− 1

6.0 × 1014s− 1

3.6 × 1030s− 1

https://dl.doubtnut.com/l/_VLFbjUzZ4rHq
https://dl.doubtnut.com/l/_GFuPhgEyRbLD


Answer: B

Watch Video Solution

203. In a gaseous phase reaction:

,), the increases in pressure

from 100 mm to 120 mm is noticed in 5 minute. The total of

disappearance of A_2 is : is:

A. 4

B. 8

C. 16

D. 2

Answer: B

A2(g) → B(g) + (1/2)C(g)

mm
− 1

min

https://dl.doubtnut.com/l/_GFuPhgEyRbLD
https://dl.doubtnut.com/l/_9zGeBdTJCApB


Watch Video Solution

204. The term (-dC/dt) in rate equation refers to:

A. The concentration of a reactant

B. The decrease in concentration of the reactant with

time

C. The velocity constant of reaction

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9zGeBdTJCApB
https://dl.doubtnut.com/l/_3I8pUWVuAtST


205. Two reaction A  products and B  products have

rate constants  and at temperature, T and activation

energies  and  respectively. If & and 

 and assuming that A for both the reactions is

same then:

A. At higher temperature  will be greater than  and

B. At lower temperature  and  will differ more and 

C. As temperature rises  and  will be close to each

other in magnitude

D. All

→ →

kA KB

EA EB KA > KB

EA < EB

kA KB

KA > KB

kA kB

KA > KB

kA KB

https://dl.doubtnut.com/l/_6In0PecZBPYS


Answer: D

Watch Video Solution

206. The rate of reaction:

A. Decreases with time

B. Decreases with decrease in concentration of reactant

C. Decreases, with increase in time and decrease in

concentration of reactant

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6In0PecZBPYS
https://dl.doubtnut.com/l/_gFdgKrPaAnXg


207. Which order of reaction obeys the relation

:

A. First

B. Second

C. Third

D. Zero

Answer: B

Watch Video Solution

t1 / 2 = 1/ka

208. Plot of log (a- x) vs time t is straight line. This indicates

that the reaction is of:

https://dl.doubtnut.com/l/_uFKYCv7ynazy
https://dl.doubtnut.com/l/_REJa9aPHVjB6


A. Second order

B. First order

C. Zero order

D. Third order

Answer: B

Watch Video Solution

209. A graph, ploted between concentration of reactant

consumed at any time (x) and time t is found to be a

straight line passing through the origin. Thus reaction is of:

A. First order

B. Second order

https://dl.doubtnut.com/l/_REJa9aPHVjB6
https://dl.doubtnut.com/l/_yeoronGMR1L8


C. Zero order

D. None

Answer: B

Watch Video Solution

210. Combustion of carbon is exothermic, but coal stored in

coal depots does not bum automatically because of:

A. High threshold energy barrier

B. Kinetic stability of coal

C. .Higher energy of activation needed for burning

D. All of the above

https://dl.doubtnut.com/l/_yeoronGMR1L8
https://dl.doubtnut.com/l/_HbZZ3LQ8y2wB


Answer: D

Watch Video Solution

211. The rate constant for a reaction is  mole 

. The reaction obeys:

A. First order

B. Zero order

C. Second order

D. Half order

Answer: B

Watch Video Solution

10.8 × 10− 5

litre− 1 sec− 1

https://dl.doubtnut.com/l/_HbZZ3LQ8y2wB
https://dl.doubtnut.com/l/_UYlR8jvNfUkU
https://dl.doubtnut.com/l/_70BTk9yXqHe8


212. The unit of rate constant and that of rate of reaction

are same for:

A. First order

B. Zero order

C. Second order

D. Half order

Answer: B

Watch Video Solution

213. If a is the initial concentration then time required to

decompose half of the substance for nth order is inversely

proportional to:

https://dl.doubtnut.com/l/_70BTk9yXqHe8
https://dl.doubtnut.com/l/_i6CwDb7F3Epg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

an

an− 1

a1 −n

an− 2

214. According to collision theory:

A. Every collision between reactants leads to chemical

reaction

https://dl.doubtnut.com/l/_i6CwDb7F3Epg
https://dl.doubtnut.com/l/_lQTZW0pPTcxE


B. Rate of reaction is proportional to velocity of

molecules

C. All reactions which occur in gaseous phase are zero

order reactions

D. Rate of reaction is directly proportional to collision

frequency

Answer: D

Watch Video Solution

215. Which statement is not correct ?

https://dl.doubtnut.com/l/_lQTZW0pPTcxE
https://dl.doubtnut.com/l/_X386Y81H5Ntx


A. For endothermic reactions, heat of reaction is lesser

than energy of activation

B. For exothermic reactions, heat of reaction is more

than energy of activation

C. For exothermic reactions energy of activation is .less

in forward reaction than in backward reaction

D. For endothermic reactions energy of activation is

more in forward reaction than in backward reaction

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_X386Y81H5Ntx


216. Which of the following statement is correct for a

reaction Products:

A. The rate of disappearance of X = twice the rate of

disappearance of Y

B. The rate of disappearance of X = 1/2 rate of

appearance of products

C. The rate of apperance of products =  the rate of

disapperance of Y

D. The rate of apperance of products =  the rate of

disapperance of X

Answer: C

Watch Video Solution

2X + Y →

1/2

1/2

https://dl.doubtnut.com/l/_soZqyYeJs9i0


217. Select the intermediate in the following reaction

mechanism:




A. 

B. 

C. 

D. None of the above

Answer: B

Watch Video Solution

O3(g) ⇔ O2(g) + O(g)

O(g) + O3(g) → 2O2

O3(g)

O(g)

O2(g)

https://dl.doubtnut.com/l/_soZqyYeJs9i0
https://dl.doubtnut.com/l/_Aica89MyTlXG


218. If the concentration units are reduced by n times, then

the value of rate constant of first order will:

A. Increase by n times

B. Decrease by factor of n

C. Not change

D. None of the above

Answer: C

Watch Video Solution

219. The reaction  exhibits:

A. Small negative temperature coefficient

NO + (1/2)O2 → NO2

https://dl.doubtnut.com/l/_WdEr4Kzg5l4v
https://dl.doubtnut.com/l/_DSLKs4RTJt55


B. Decrease in value of K with, temperature

C. Decrease in value of rate^ivith temperature

D. none

Answer: B

Watch Video Solution

220. For the reaction, ,The statement

not correct is:

A. The rate of disappearance of B is one fourth the rate

of disappearance of A

B. The rate of appearance of C is half the rate of

disappearance of B

4A + B → 2C + 2D

https://dl.doubtnut.com/l/_DSLKs4RTJt55
https://dl.doubtnut.com/l/_3BMk7jNuZTPn


C. The rate of formation of D is half the rate of

consumption of A

D. The rates of formation of C and D are equal

Answer: B

Watch Video Solution

221. The rate constant of a reaction depends upon

A. Temperature

B. Initial concentration of the reactants

C. Time of reaction

D. Extent of reaction

https://dl.doubtnut.com/l/_3BMk7jNuZTPn
https://dl.doubtnut.com/l/_3Pkz9UxU4DyU


Answer: A

Watch Video Solution

222. A large increase in rate of reaction for a rise of

tempeature is due to

A. Increase in the number of collisions

B. Increase in the number of activated molecules

C. Lowering of activation energy

D. Shortening of the mean free path

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_3Pkz9UxU4DyU
https://dl.doubtnut.com/l/_YHUvcoBahum6
https://dl.doubtnut.com/l/_oDeq9P95tqd5


223. Mathematical expression for  i.e., when 

reaction is over following first order kinetics can be given

by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

t1 / 4 (1/4)th

t1 / 4 = log 4
2.303

K

t1 / 4 = log 2
2.303

K

t1 / 4 = log
2.303

K

4

3

t1 / 4 = log
2.303

K

3

4

224. The rate constant for the reaction

 is . If the rate is 2N2O5 → 2N2O4 + O2 3 × 10− 5 sec− 1

https://dl.doubtnut.com/l/_oDeq9P95tqd5
https://dl.doubtnut.com/l/_7u06t5gg2BaM


 M , the concentration of  is

A. 1.4

B. 1.2

C. 0.04

D. 0.8

Answer: D

Watch Video Solution

2.4 × 10− 5 sec− 1 N2O5

225. For a given reaction rate = K , the unit of

rate constant K can be given as

Watch Video Solution

(A)1(B)2 / 3

https://dl.doubtnut.com/l/_7u06t5gg2BaM
https://dl.doubtnut.com/l/_Vl7PnnWBFtSx
https://dl.doubtnut.com/l/_OYm48Mx676Xh


226. The inversion of cane sugar proceeds with half life of

500 minute at pH = 5 for any concentration of sugar.

However, if pH=6, the half life changes to 50 minute. The rate

law expression for the sugar inversion can be written as

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

r = k(sugar)2(H + )
0

r = k(sugar)1(H + )
0

r = k(sugar)1(H + )
1

r = k(sugar)0(H + )
1

https://dl.doubtnut.com/l/_OYm48Mx676Xh


227. Two substances A and B are present such that [A]=：  4

[B] and half life of A is 5 minute and of B is 15 minute. If they

start decaying at the same time following first order, how

much time later will the concentration of both of them

would be same

A. 15 minute

B. 10 minute

C. 5minute

D. 12 minute

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_laXDZXO6tqlo


228. Milk turns sour at  three times as faster as at 

. The energy of activation for souring of milk is:

A. 4.693 kcal

B. 2.6 kcal

C. 6.6kcal

D. None of these

Answer: A

Watch Video Solution

40∘C 0∘C

229. The order of a gaseous phase reaction for which rate

becomes half if volume of-container having same amount of

reactant is doubled is:

https://dl.doubtnut.com/l/_qJODtEh7bSud
https://dl.doubtnut.com/l/_ekbibv4efpW7


A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/3

230. For the non-equilibrium process,  products,

the rate is first order with respect to A and second order

with respect to B. If 1.0 mol each of A and B are introduced

into a 1 litre vessel,and the initial rate were 

mol/litre sec.The rate (in mol ) when half of

the reactants have been used:

A + B →

1.0 × 10− 2

litre− 1 sec− 1

https://dl.doubtnut.com/l/_ekbibv4efpW7
https://dl.doubtnut.com/l/_LOJhPbnS0tt3


A. 

B. 

C. 

D. None of the above

Answer: A

Watch Video Solution

1.2 × 10− 3

1.2 × 10− 2

1.2 × 10− 4

231. Hydrogenation of vegetable ghee at  reduces

pressure of  from 2 atm to 1.2 atm in 50 minute. The

pressure of from 2 atm to 1.2 atm in 50 minute. The rate

of reaction in terms of molarity per second is :

A. 

25∘C

H2

H2

1.09 × 10− 6

https://dl.doubtnut.com/l/_LOJhPbnS0tt3
https://dl.doubtnut.com/l/_A94DYHXEacM1


B. 

C. 

D. 

Answer: B

Watch Video Solution

1.09 × 10− 5

1.09 × 10− 7

1.09 × 10− 5

232. Ethylene is produced by 

Cyclobutane. The rate constant is . In

what time will the molar ratio of the ethylene to

cyclobutane in reaction mixture attain the value 1:

A. 27.25 minute

B. 28.25 minute

C4H8

Δ
−−→ 2C2H4

2.48 × 10− 4 sec− 1

https://dl.doubtnut.com/l/_A94DYHXEacM1
https://dl.doubtnut.com/l/_myF2G2CEnQyX


C. 25 minute

D. 20 minute

Answer: A

Watch Video Solution

233. Effective collisions are those in which molecules must:

A. Have energy equal to or greater than the threshold

energy

B. Have proper orientation

C. Acquire the energy of activation

D. All

https://dl.doubtnut.com/l/_myF2G2CEnQyX
https://dl.doubtnut.com/l/_b3hEwk531rK9


Answer: D

Watch Video Solution

234. For the elementary step 

 the

molecularity is :

A. Zero

B. 1

C. 2

D. Cannot ascertained

Answer: B

Watch Video Solution

(CH3)3CBr(aq) → (CH)3)3
C + (aq) + Br− (aq)

https://dl.doubtnut.com/l/_b3hEwk531rK9
https://dl.doubtnut.com/l/_r57Xg6Rcden5


235. For a reaction ,the rate of reaction was found to

increase about .1.8 times when the temperature was

increased by  . The increase in rate is due to :

A. Increase in number of active molecules

B. Increase in activation energy of reactants

C. Decrease in activation energy of reactants

D. Increase in the number of collisions between reacting

molecules

Answer: A

Watch Video Solution

10∘C

https://dl.doubtnut.com/l/_r57Xg6Rcden5
https://dl.doubtnut.com/l/_SVLgmMYuUafA
https://dl.doubtnut.com/l/_ITFVynQS1rh6


236. A reaction proceeds in three stages. The first stage is a

slow and involves two molecules of reactants .The second

and third stage are fast .The overall order of the reaction is :

A. First order

B. Second order

C. Third order

D. Zero order

Answer: B

Watch Video Solution

237. The rate of a reaction can be increased in general by all

the factors except:

https://dl.doubtnut.com/l/_ITFVynQS1rh6
https://dl.doubtnut.com/l/_HjSEy5JTET4q


A. Using a catalyst

B. Increasing the temperature

C. Increasing the activation energy

D. Increasing the concentration of reactants

Answer: C

Watch Video Solution

238. Which is not used in the determination of reaction

rates ?

A. Reaction temperature

B. Reactant concentration

C. Specific rate constant

https://dl.doubtnut.com/l/_HjSEy5JTET4q
https://dl.doubtnut.com/l/_c1QewU1mHuZY


D. None of the above

Answer: D

Watch Video Solution

239. The enzyme catalysed reaction is faster than metal

catalysed reaction because its activation energy is :

A. Greater

B. Lower

C. Same

D. None of the above

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_c1QewU1mHuZY
https://dl.doubtnut.com/l/_XbnB9KcIYCCO


Watch Video Solution

240. The given reaction

is an example of :

A. First order reaction

B. Third order reaction

C. Second order reaction

D. None of above

Answer: B

Watch Video Solution

2FeCl3 + SnCl2 → SnCl4 + 2FeCl2

https://dl.doubtnut.com/l/_XbnB9KcIYCCO
https://dl.doubtnut.com/l/_a6IoKF2ELOJo


241. For producing the effective collisions the colliding

molecules must have :

A. A certain minimum amount of energy

B. Energy lesser than threshold energy

C. Improper orientation

D. Proper orientation and energy equal or greater than

threshold energy

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_blFi6CmIMuD7


242. Equation for the half life period in first order reaction is

:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
t1

2

0.602

k

=
t1

2

0.693

K

=
t1

2

K

0.693

=
t1

2

K

0.602

243. A zero order reaction is one

A. In which reactants do not react

https://dl.doubtnut.com/l/_v9dkv1unVJRo
https://dl.doubtnut.com/l/_2U6qwxM376Rr


B. In which one of the reactants is in large excess

C. Whose rate does not change with time

D. Whose rate increases with time

Answer: C

Watch Video Solution

244. If the rate of reaction between A and B is. given by,rate

 then the reaction is :

A. First order in A

B. order in B

C. Overall order is (1+n)

D. All are correct

= K[A][B]n,

nth

https://dl.doubtnut.com/l/_2U6qwxM376Rr
https://dl.doubtnut.com/l/_6twrdnSfzdML


Answer: D

Watch Video Solution

245. Which statement about the order of reaction is correct:

A. The order .of reaction must be a positive integer

B. A second order reaction is also bimolecular

C. The order of reaction increases with increasing

temperature

D. The order of reaction can only be determined by

experiment

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_6twrdnSfzdML
https://dl.doubtnut.com/l/_E86ZXfRXobig


Watch Video Solution

246. is known as :

A. Ratio of equilibrium constants

B. Temperature coefficient

C. Difference in temperature of reversible reactions

D. None of the above

Answer: D

Watch Video Solution

Kf ( + 10 )

Kt

247. In a reaction, the threshold energy is equal to: .

https://dl.doubtnut.com/l/_E86ZXfRXobig
https://dl.doubtnut.com/l/_WbNpumdvCnln
https://dl.doubtnut.com/l/_hTAxwr95TV3z


A. Activation energy + normal energy of reactants

B. Activation energy- normal energy of reactants

C. Activation energy

D. Normal energy of reactants

Answer: A

Watch Video Solution

248. The rate of reaction,  product, is

proportional to the first power of concentration of A and

second power of concentration B. The overall order of the

reaction is :

A. 1

A + B →

https://dl.doubtnut.com/l/_hTAxwr95TV3z
https://dl.doubtnut.com/l/_5tajSoYtfgvH


B. 2

C. 3

D. Zero

Answer: C

Watch Video Solution

249. The following equation for the rate constant: indicates

that the reaction is of :

A. Second order

B. First order

C. Third order

D. Zero order

K = log.
2.303

t

a

a − x

https://dl.doubtnut.com/l/_5tajSoYtfgvH
https://dl.doubtnut.com/l/_YmpYCPuQ0qoi


Answer: B

Watch Video Solution

250. For the reaction the rate law is,

rate=K[A].Which of the following statement is incorrect ?

A. The reaction follows first order kinetics

B. The  of reaction depends upon initial concentration

of reactant

C. K is constant for the reaction at at constant

temperature

D. The rate law provides a simple way of predicting the

concentration of reactants and product at any time

A − − → B,

t1

2

https://dl.doubtnut.com/l/_YmpYCPuQ0qoi
https://dl.doubtnut.com/l/_Lmevp7dy9If4


after the start of the reaction

Answer: B

Watch Video Solution

251. The correct expression the rate of reaction of

elementary reaction ,  is:

A. 

B. 

C. 

D. 

Answer: C

W h Vid S l i

A + B − − − → C

d = K[A]
[C]

dt

= K[B]
d[C]

dt

= K[A][B]
−d[A]

dt

= K[A]
−d[A]

dt

https://dl.doubtnut.com/l/_Lmevp7dy9If4
https://dl.doubtnut.com/l/_TJIhNP8ZAxrn


Watch Video Solution

252. With respect to the figure given below which of the

following statement is correct: 

A.  for the forward reaction is C-B

B.  for the forward reaction is B-A

C. 

D. (for reverse reaction)=C-A

ΔE

ΔE

ΔEforward > ΔEbackward

ΔE

https://dl.doubtnut.com/l/_TJIhNP8ZAxrn
https://dl.doubtnut.com/l/_snxD8Ug1AhaC


Answer: B

View Text Solution

253. A drop of solution (volume 0.05 mL) contains

mole of If the rate constant of

disappearance of  is mol  How long

would it take for  in drop to disappear :

A. .

B. 

C. 

D. 

Answer: C

3.0 × 10− 6 H +

H + 107 litre− 1 sec− 1

H +

6 × 10− 8 sec

6 × 10− 7 sec.

6 × 10− 9 sec.

6 × 10− 10 sec.

https://dl.doubtnut.com/l/_snxD8Ug1AhaC
https://dl.doubtnut.com/l/_uyRl4jOG9hZw


Watch Video Solution

254. Which of the following theory, is not related to

chemical kinetics ?

A. Collision theory

B. Activated complex theory

C. Absolute reaction rate theory

D. VSEPR theory

Answer: D

Watch Video Solution

255. Which plots will give the value of activation energy ?

https://dl.doubtnut.com/l/_uyRl4jOG9hZw
https://dl.doubtnut.com/l/_uHc1u3T5QM7C
https://dl.doubtnut.com/l/_tLXCdbjRqMMD


A. K vs T

B. 1/K vs T

C. In K vs. T

D. 

Answer: D

Watch Video Solution

lnKvs
1

T

256. The burning of coal represented by the equation,

.The rate of this reaction is

increased by :

A. Decrease in the concentration of oxygen

B. Powdering the lumps of coal

C(s) + O2(g) → CO2(g)

https://dl.doubtnut.com/l/_tLXCdbjRqMMD
https://dl.doubtnut.com/l/_AmYTSt6nhXiE


C. Decreasing the temperature

D. Providing inert atmosphere for burning

Answer: B

Watch Video Solution

257. Following mechanism has been proposed for a reaction

, 

A. 

B. 

r = K[A]2[B]

r = K[A][B]

https://dl.doubtnut.com/l/_AmYTSt6nhXiE
https://dl.doubtnut.com/l/_iFKyWhqzKmlK


C. 

D. r=K[A][C]

Answer: B

Watch Video Solution

r = K[A]2

258. If order of reaction , is zero .If means

that :

A. Rate of reaction is independent of temperature

B. Rate of reaction is independent of the. concentration

of the reacting species

C. ,The rate of formation of activated complex is zero

D. Rate of decomposition of activated complex is zero

A + B
hv

−−→ AB

https://dl.doubtnut.com/l/_iFKyWhqzKmlK
https://dl.doubtnut.com/l/_vc9rjUBvdk6p


Answer: B

Watch Video Solution

259. The chemical reaction, proceeds as follows: 




The rate law expression should

be :

A. 

B. 

C. 

D. Unpredictable.

Answer: B

2O3 → 3O2

O3 ⇔ O2 + .........(f ∗ )

O + O3 → 2O2....... (slow)

r = K[O3]2

r = K[O3]2[O2] − 1

r = K[O3][O2]

https://dl.doubtnut.com/l/_vc9rjUBvdk6p
https://dl.doubtnut.com/l/_rnCKpN3QUx3u


Watch Video Solution

260. A hypothetical reaction,  follows the

mechanism as given below , (fast)





(fast) The order of the reaction is :

A. 2

B. 1

C. 

D. Zero

Answer: C

Watch Video Solution

A2 + B2 → 2AB

A2 → A + A....... .

A + B2 → AB + B....... (slow)

A + B → AB.......

1
1

2

https://dl.doubtnut.com/l/_rnCKpN3QUx3u
https://dl.doubtnut.com/l/_aatSvWjBHfNM


261. For the reaction , . The variation of the

concentration of the products is given by the curve: 

A. X

B. Y

C. Z

D. W

Answer: B

W t h Vid S l ti

A + B → C + D

https://dl.doubtnut.com/l/_jR0IlwXUjjUo


Watch Video Solution

262. If the first order reaction involves gaseous reactants

and gaseous-products the units of its rate are:

A. atm

B. atm-sec

C. 

D. 

Answer: C

Watch Video Solution

atm sec− 1

atm2 − sec2

https://dl.doubtnut.com/l/_jR0IlwXUjjUo
https://dl.doubtnut.com/l/_jyT0OOVPbVY0


263. The branch of chemistry which deals with the reaction

rates and. reaction mechanism is called :

A. Thermochemistry

B. Photochemistry

C. both a and b

D. Chemical kinetics

Answer: D

Watch Video Solution

264. For an exothermic chemical process occuring in two

steps as : , The

progress of the reaction can be described by :

A + B → X(slow) A + B → X(slow)

https://dl.doubtnut.com/l/_Szcoa3kCkbCw
https://dl.doubtnut.com/l/_sDBuwOzZdu4R


A. 

B. 

C. 

D. All are correct

Answer: A

Watch Video Solution

265. Among the following reaction the fastest one is :

https://dl.doubtnut.com/l/_sDBuwOzZdu4R
https://dl.doubtnut.com/l/_OTEo5gZFtQ4a


A. Burning of coal

B. Rusting of iron in moist car

C. Conversion of monoclinic sulphur to rhombic

D. Precipitation of silver chloride by mixing silver nitrate

and sodium chloride solutions

Answer: D

Watch Video Solution

266. In acidic medium the rate of reaction between

 and  ions is given by the expression.

 It means:

A. Rate constant of overall reaction is

(BrO3) −
Br−

− = K[BrO−
3
][Br− ][H + ]

2d(BrO−
3 )

dt

4 sec− 1

https://dl.doubtnut.com/l/_OTEo5gZFtQ4a
https://dl.doubtnut.com/l/_dfh2nacxXdsQ


B. Rate of reaction is independent of the conc.of acid

C. The change in pH of the solution will not affect the

rate

D. Doublic the conc, of  ions will increase the

reaction rate by 4’times

Answer: D

Watch Video Solution

H +

267. Chemical reaction occurs as a result of collisions

between reacting molecules. Therefore, the reaction rate is

given by:

https://dl.doubtnut.com/l/_dfh2nacxXdsQ
https://dl.doubtnut.com/l/_Hdld297KFath


A. Total number of collisions occuring in a unit volume

per second

B. Fraction of molecules which possess energy less than

the threshold energy

C. Total number of effective collisions

D. None of the above

Answer: C

Watch Video Solution

268. The activation energies of two reactions are  and

with  if the temperature of the reacting systems is

increased from to , predict which alternative is correct k

Ea Ea

Ea > Ea

T1 T2

https://dl.doubtnut.com/l/_Hdld297KFath
https://dl.doubtnut.com/l/_FVSoJUnwHxrx


are rate constants at higher temperature. Assume A being

same for both the reactions:

A. 

B.  and 

C.  and 

D. 

Answer: B

Watch Video Solution

=
k1

k2

k2

k2

k1 < k2 k1 < k2

k1 > k2 k1 > k2

=
k1

k2

2k2

k2

269. For the decomposition of , it is given that :

,Activation energy 

N2O5(g)

2N2O5(g) → 4NO2(g) + O2(g)

https://dl.doubtnut.com/l/_FVSoJUnwHxrx
https://dl.doubtnut.com/l/_fdXPLHA93oN8


,Activation energy

then:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

EaN2O5(g) → 2NO2(g) + ( )O2(g)
1

2

Ea

Ea = Ea

Ea > Ea

Ea < Ea

Ea = 2Ea

270. For the reaction:

the

net rate of reaction at any time is given by :net rate =

[Cu(NH3)4]
2 +

+ H2O → [Cu(NH3)3H2O
2 + +NH3

https://dl.doubtnut.com/l/_fdXPLHA93oN8
https://dl.doubtnut.com/l/_X13090JVInBT


. Then correct statement is (are):

A. Rate constant for forward reaction

B. Rate constant for backward reaction

C. Equilibrium constant for the reaction

D. All

Answer: B

Watch Video Solution

2.0 × 10− 4[[Cu(NH3)4]
2 +

− 3.0 × 105[[Cu(nh3)3H2O]
2 +

]

[NH3]

= 2 × 104

= 3 × 105

= 6.6 × 1010

271. Which is correct relation in between and

where C,n,P, represents concentration ,mole and pressure

terms for gaseous phase reactant A(g)rarr product.

,
dC

dt

dn

dt

dP

dt

https://dl.doubtnut.com/l/_X13090JVInBT
https://dl.doubtnut.com/l/_033sV99yHdQH


A. 

B. 

C. 

D. All

Answer: A

Watch Video Solution

− = − = −
dC

dt

1

V

dn

dt

1

RT

dP

dt

= = −
dC

dt

dn

dt

dP

dt

= = − (dP )dt
dC

dt

RT

V

dn

dt

272. Rate of a reaction :

A. Increases with increase in temperature

B. Decreases with increase in temperature

C. Does not depend on temperature

https://dl.doubtnut.com/l/_033sV99yHdQH
https://dl.doubtnut.com/l/_od2ywXGbNaaJ


D. Does not depend on concentration

Answer: A

Watch Video Solution

273. The dimensions of the rate constant of a second order

reaction involves :

A. Neither time nor concentration

B. Time and concentration

C. Time and square of concentration

D. Only time

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_od2ywXGbNaaJ
https://dl.doubtnut.com/l/_Rdf5BcWjTCnZ


Watch Video Solution

274. The rate constant is given by the equation

which factor should register a decrease for

the reaction to proceed rapidly:

A. T

B. Z

C. A

D. 

Answer: D

Watch Video Solution

K = Ae−Ea/RT

Ea

https://dl.doubtnut.com/l/_Rdf5BcWjTCnZ
https://dl.doubtnut.com/l/_XLjw5rOopoqu


275. For the reaction , ,the

reaction . Which statement is true

about this reaction:

A. The reaction is of second order

B. Molecularity of the reaction is 3/2

C. The unit of K is 

D. Molecularity of the reaction is 2

Answer: D

Watch Video Solution

H2(g) + Br(g) = 2HBr(g)

rate = K[H2][Br2]
1

2

sec− 1

276. A zero order reaction is one

https://dl.doubtnut.com/l/_Wr0BY8Hpccbb
https://dl.doubtnut.com/l/_b62KRXGexXVR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_b62KRXGexXVR


277. Rate equation for a second order reaction is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K = log( )
2.303

t

a

a − x

K = log( )
1

t

a

a(a − x)

K = .
1

t

x

a(a − x)

K = .
1

t2

a

(a − x)

278. In Arrhenius equation  ,the quantity-

 is referred as :

K = Ae−Ea/RT

Ea/RT

https://dl.doubtnut.com/l/_b62KRXGexXVR
https://dl.doubtnut.com/l/_Cof1rqqfS2qN
https://dl.doubtnut.com/l/_o0ie2XlpT6PH


A. Boltzmann factor

B. Frequency factor

C. Activation factor

D. None of the above

Answer: A

Watch Video Solution

279. The temperature coefficient of most of the reaction lies

between:

A. 1 and 3

B. 2 and 3

C. 1 and 4

https://dl.doubtnut.com/l/_o0ie2XlpT6PH
https://dl.doubtnut.com/l/_J8XeLxKX4Mg3


D. 2 and 4

Answer: B

Watch Video Solution

280. Which one is unimolecular reaction :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH4NO2 → N2 + 2H2O

2HI ⇔ H2 + I2

2NO2 → 2NO + O2

2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_J8XeLxKX4Mg3
https://dl.doubtnut.com/l/_HvPOkR3B65ZV


281. Rate equation is the expression that gives the relation

between rate of reaction and :

A. Temperature

B. Concentration of products

C. Concentration of reactants

D. None of the above

Answer: C

Watch Video Solution

282. A 1st order reaction has K value  at .

The reaction is allowed to continue for 10 hours. Calculate

1.5 × 10− 6 200∘C

https://dl.doubtnut.com/l/_HvPOkR3B65ZV
https://dl.doubtnut.com/l/_RQHiro0mhdo3
https://dl.doubtnut.com/l/_af7kYsotuhLr


the percentage of initial concentration that would have

changed in the product and also calculate half life period.

Watch Video Solution

283. Thermal decomposition of a compound is of first order.

If 50% of a sample of the compound is decomposed in 120

min. How long would it take for 90% of the compound to

decompose?

Watch Video Solution

284. Prove that time required for the completion of 3/4 of

reaction of the 1st order reaction is twice the time required

for the completion of half of the reaction.

https://dl.doubtnut.com/l/_af7kYsotuhLr
https://dl.doubtnut.com/l/_35etqi68mmOE
https://dl.doubtnut.com/l/_lL5uI99jqrzg


Watch Video Solution

285. The half life period of 1st order reaction of A is 2

minutes. How long will it take to reach at  of its initial

concentration.

Watch Video Solution

25 %

286. Define rate of reaction .

Watch Video Solution

287. Define order of reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_lL5uI99jqrzg
https://dl.doubtnut.com/l/_YpoDjccUjF9u
https://dl.doubtnut.com/l/_Mf3TlbEc4dsE
https://dl.doubtnut.com/l/_oxN5lDzXJbMX


288. Explain molecularity of a reaction.

Watch Video Solution

289. Calculate the unit of 1st order rate constant

Watch Video Solution

290. Give one example of unimolecular reaction.

Watch Video Solution

291. Give one example of bimolecular reaction.

h id l i

https://dl.doubtnut.com/l/_oxN5lDzXJbMX
https://dl.doubtnut.com/l/_3uGeNvPTbMci
https://dl.doubtnut.com/l/_dDhwfCPoKEVP
https://dl.doubtnut.com/l/_tz74nGUZDQoJ
https://dl.doubtnut.com/l/_Ex1L87lk1mNU


Watch Video Solution

292. Write relationship between the rate constant and its

activation energy.

Watch Video Solution

293. The minimum energy which molecules need to acquire

before they can react by collision is known as what ?

Watch Video Solution

294. The slowest step is called the rate determining step of

the multistep reaction. (True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_Ex1L87lk1mNU
https://dl.doubtnut.com/l/_DAaOZjqBODWU
https://dl.doubtnut.com/l/_4RcxNdsTIaza
https://dl.doubtnut.com/l/_JrzTuKGpUJNj


295. How catalyst affects the rate of reaction ?

Watch Video Solution

296. Give example of zero order reaction

Watch Video Solution

297. Define threshold energy.

Watch Video Solution

https://dl.doubtnut.com/l/_JrzTuKGpUJNj
https://dl.doubtnut.com/l/_t7EZBwpsbiCS
https://dl.doubtnut.com/l/_1khhzYmWTxrM
https://dl.doubtnut.com/l/_A0BCPiM714Mu


298. If activation energy of a reaction is zero, how does rate

constant of the reaction change with temperature ?

Watch Video Solution

299. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

300. The rate constant of 1st order is  . Find its

half life period.

Watch Video Solution

0.0005
− 1

min

https://dl.doubtnut.com/l/_qzXwEaWzKsaM
https://dl.doubtnut.com/l/_iu0jI8PAU9j0
https://dl.doubtnut.com/l/_Y5u6o1kS5xB9
https://dl.doubtnut.com/l/_Vpj0HKBsEvPk


301. The half life period of a 1st order reaction is 30 seconds.

Calculate its rate constant.

Watch Video Solution

302. How average K.E. of a gas molecule is related to the

temperature ?

Watch Video Solution

303. Define activation energy of a reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_Vpj0HKBsEvPk
https://dl.doubtnut.com/l/_MvH9jRjLRnJi
https://dl.doubtnut.com/l/_NDWT01O53Vde


304. Name the reaction when hydrolysis of ester in an

alkaline medium takes place.

Watch Video Solution

305. What is unit of rate of reaction?

Watch Video Solution

306. Activation energy for a chemical reaction depends on

the nature of the reactant. (True/False)

Watch Video Solution

https://dl.doubtnut.com/l/_Wz0eAmTZ51LU
https://dl.doubtnut.com/l/_EeA3P76sJqcm
https://dl.doubtnut.com/l/_ZqdlCli89gms


307. Molecularity of a reaction can never be zero.

(True/False)

Watch Video Solution

308. Write the integrated rate equation for 1st order

reaction.

Watch Video Solution

309. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_Dk3mGY6RECBH
https://dl.doubtnut.com/l/_kMxDjLem0xsX
https://dl.doubtnut.com/l/_KkZMS3KjiAyg
https://dl.doubtnut.com/l/_geAhAASsc5N2


310. What is the order of reaction if the unit of rate

constant is  ?

Watch Video Solution

litre mol− 1 sec− 1

311. What is the half-life period of a reaction having rate

constant .

Watch Video Solution

6.93 × 10− 4 sec− 1

312. What is the unit of rate constant for a second order

reaction ?

Watch Video Solution

https://dl.doubtnut.com/l/_geAhAASsc5N2
https://dl.doubtnut.com/l/_1QqnNXv8XkWD
https://dl.doubtnut.com/l/_ck78nHMkAr93
https://dl.doubtnut.com/l/_jCKOfunLF6az


313. What is order of reaction ?

Watch Video Solution

314. What is the unit of rate constant of the first order

reaction?

Watch Video Solution

315. Write two factors which influence the rate of reaction.

Watch Video Solution

316. What is the expression for rate constant for 1st order

reaction ?

https://dl.doubtnut.com/l/_jCKOfunLF6az
https://dl.doubtnut.com/l/_f4rjCGMzuOqC
https://dl.doubtnut.com/l/_LULQi2Ki4MCD
https://dl.doubtnut.com/l/_k704cotfYuha


Watch Video Solution

317. Rate constant of a 1st order reaction is 0.5 . What is

the half-life period ?

Watch Video Solution

s− 1

318. Write Arrhenius equation relating activation energy

,temperature(T) and rate const.(K).

Watch Video Solution

(Ea)

319. Define molecularity of a reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_k704cotfYuha
https://dl.doubtnut.com/l/_otV1Fe0NzGYa
https://dl.doubtnut.com/l/_OnfdOwp3Frwq
https://dl.doubtnut.com/l/_Q2RNn3JJX6UA


320. Unit of the rate constant for first order reaction is______.

Watch Video Solution

321. If unit of the rate constant is  the order of

reaction is______.

Watch Video Solution

sec− 1

322. Unit of the rate constant for first order reaction is______.

Watch Video Solution

https://dl.doubtnut.com/l/_Q2RNn3JJX6UA
https://dl.doubtnut.com/l/_7YWAY2o7qwDs
https://dl.doubtnut.com/l/_o8pynJmc2e9r
https://dl.doubtnut.com/l/_WWpcgoAEKrLn


323. Rate of reaction is influenced by_____.

Watch Video Solution

324. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

Watch Video Solution

325. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

Watch Video Solution

https://dl.doubtnut.com/l/_JnqXMbcpvXnn
https://dl.doubtnut.com/l/_ZcC8zDEsBRxE
https://dl.doubtnut.com/l/_PCQrV8yMDpQE


326. Rusting of iron is a _____ reaction.

Watch Video Solution

327. Unit of the rate of reaction is_____.

Watch Video Solution

328. Rate of reaction_____as tempersture increases.

Watch Video Solution

329. Arrhenius equation is given by_____.

Watch Video Solution

https://dl.doubtnut.com/l/_5OJeQioF7jgM
https://dl.doubtnut.com/l/_s1UtmqyL8ARQ
https://dl.doubtnut.com/l/_GupcIf4wYDxj
https://dl.doubtnut.com/l/_OaqjyVB8ef5x


330. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

Watch Video Solution

331. Alkali hydrolysis of ester is a _____ order reaction having

molecularity_____.

Watch Video Solution

332. Alkali hydrolysis of ester is a first order reaction .is it

true or false

Watch Video Solution

https://dl.doubtnut.com/l/_OaqjyVB8ef5x
https://dl.doubtnut.com/l/_1CPQzE2OCthm
https://dl.doubtnut.com/l/_GlfsMAf3FUH5
https://dl.doubtnut.com/l/_lRHWLOT3OX2i


333. Rusting of iron is a fast reaction.

True / False

Watch Video Solution

334. Unit of the rate of reaction is 

Watch Video Solution

mol− 1 sec− 1

335. Rate of reaction decreases as temperature increases.is

it true or false

Watch Video Solution

https://dl.doubtnut.com/l/_lRHWLOT3OX2i
https://dl.doubtnut.com/l/_Ltpynn2bcjp8
https://dl.doubtnut.com/l/_azh5qC2arbiR
https://dl.doubtnut.com/l/_vygCNcRAp6kp
https://dl.doubtnut.com/l/_6X89550tKJal


336. If unit of rate constant is  lit  order of the

reaction is ____

Watch Video Solution

mol− 1 sec− 1

337. Unit of the rate constant for first order reaction is______.

Watch Video Solution

338. Acid hydrolysis of ester is a second order reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_6X89550tKJal
https://dl.doubtnut.com/l/_ZVrTVZI1EseE
https://dl.doubtnut.com/l/_1Ri5gjIsRqbv


339. Derive an expression for the rate constant of first order

reaction. The rate constant of first order reaction is

. What is the half-life?

Watch Video Solution

0.346  min− 1

340. The half-life period of a reaction is 60 s. Calculate its

rate constant.

Watch Video Solution

341. The rate constant of a first order reaction is

. Find the half-life of the reaction.

Watch Video Solution

k = 7.39 × 10− 5  s − 1

https://dl.doubtnut.com/l/_HOF6sOomnUSN
https://dl.doubtnut.com/l/_dI1vmBX2HsGo
https://dl.doubtnut.com/l/_y741MHRb6yzd


342. The rate constant of a first order reaction is

. What is its half-life period?

Watch Video Solution

0.60  sec− 1

343. Calculate the half life of the first order reaction from

their rate constants given as:

Watch Video Solution

344. What is activation energy?

Watch Video Solution

https://dl.doubtnut.com/l/_y741MHRb6yzd
https://dl.doubtnut.com/l/_1qpqGxYrXbe3
https://dl.doubtnut.com/l/_vfDcvnjvrbil
https://dl.doubtnut.com/l/_1CazRSa3X8aZ
https://dl.doubtnut.com/l/_O2GMI0KI2tRo


345. Write the rate law for a first order reaction.

Watch Video Solution

346. Rate of which reactions increases with temperature:

Watch Video Solution

347. Find the rate of law of the given reaction

Watch Video Solution

2NO + 2H2 → N2 + 2H2O

348. What is order of reaction ?

W t h Vid S l ti

https://dl.doubtnut.com/l/_O2GMI0KI2tRo
https://dl.doubtnut.com/l/_x5CcgMEZQmFf
https://dl.doubtnut.com/l/_Pvyvj2JPZaI7
https://dl.doubtnut.com/l/_h3EqbbS40YaX


Watch Video Solution

349. Explain molecularity of a reaction.

Watch Video Solution

350. What is the effect of catalyst on activation energy?

Watch Video Solution

351. Why do reaction rates depend on temperature? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_h3EqbbS40YaX
https://dl.doubtnut.com/l/_6E2hhbkqBqvZ
https://dl.doubtnut.com/l/_vV9ZttmTjML4
https://dl.doubtnut.com/l/_hxwttBYfLA9b


352. A first order reaction is 25% complete in 30 minutes.

Calculate the 

specific reaction rate.

Watch Video Solution

353. Rate of reaction is influenced by_____.

Watch Video Solution

354. What is the half life period of a first order reaction

having rate constant ?

Watch Video Solution

10− 2 sec− 1

https://dl.doubtnut.com/l/_tvc2qwtK9XkL
https://dl.doubtnut.com/l/_2Ul6Nr89Y239
https://dl.doubtnut.com/l/_3MtGvnHpNIQx
https://dl.doubtnut.com/l/_ZlYaolFTevVZ


355. Calculate the rate constant of a reaction (first order)

which is 90% complete in 10 min.

Watch Video Solution

356. Activation energy is low for fast reactions. Explain.

Watch Video Solution

357. What is zero order reaction? Give one example.

Watch Video Solution

358. Write two factors which influence the rate of reaction.

https://dl.doubtnut.com/l/_ZlYaolFTevVZ
https://dl.doubtnut.com/l/_zK0wnm79fEuw
https://dl.doubtnut.com/l/_SOWMow75jEZ1
https://dl.doubtnut.com/l/_6CwqqsJZtdEq


Watch Video Solution

359. The rate constant of a first order reaction is

. Find the half-life of the reaction.

Watch Video Solution

k = 7.39 × 10− 5  s − 1

360. The half-life period of a first order reaction is 60

seconds. Calculate the rate constant.

Watch Video Solution

361. The rate of reaction is doubled when the temperature

changes from  to . Calculate the energy of

activation.

27∘C 37∘C

https://dl.doubtnut.com/l/_6CwqqsJZtdEq
https://dl.doubtnut.com/l/_N3q8R8cIqoVY
https://dl.doubtnut.com/l/_OCaUJ6BSeBu0
https://dl.doubtnut.com/l/_Eg6Ce2ENjlTA


Watch Video Solution

362. For a first order reaction, it takes 16 min to complete

50% reaction. How much time does it take to complete 75%

reaction?

Watch Video Solution

363. The rate constant of a reaction is  at 

 and  at . Calculate the Arrhenius

parameter for the reaction.

Watch Video Solution

1.5 × 107s− 1

50∘C 4.5 × 107s− 1 100∘C

https://dl.doubtnut.com/l/_Eg6Ce2ENjlTA
https://dl.doubtnut.com/l/_Qc9fsCOhWqn0
https://dl.doubtnut.com/l/_KDpzORFDf7eS


364. A 1st order reaction is  complete in 20 minutes.

Calculate the time it will take the reaction to complete

.

Watch Video Solution

20 %

80 %

365. State the role of activated complex in a reaction and

state its relation with activation energy.

Watch Video Solution

366. For a first order reaction, it takes 16 min to complete

50% reaction. How much time does it take to complete 75%

reaction?

https://dl.doubtnut.com/l/_0nrOLe8LjN8a
https://dl.doubtnut.com/l/_Owh6DsQqttFt
https://dl.doubtnut.com/l/_BpC3d0fZZzpR


Watch Video Solution

367. The rate of most reactions become double when their

temperature is raised from 298 K to 308 K. Calculate their

activation energy. 

(Given,  )

Watch Video Solution

R = 8.314  J mol − 1

368. Define an expression for the rate constant of a 1st

order reaction. Define half life period. A first order reaction

takes 69.3 minutes for 50% completion. How much time will

be needed for 80% completion?

Watch Video Solution

https://dl.doubtnut.com/l/_BpC3d0fZZzpR
https://dl.doubtnut.com/l/_oI0qeJTWX0CT
https://dl.doubtnut.com/l/_42zdqOsPzkKT


369. Define the following terms. 

Pseudo first order reaction.

Watch Video Solution

370. Explain the term 'molecularity' and 'order' of a reaction.

Give one example from each of first and second order

reaction.

Watch Video Solution

371. State the rate equation for a first order reaction. Derive

the half-life period from the rate equation. A first order

https://dl.doubtnut.com/l/_Eh895nzWxi4W
https://dl.doubtnut.com/l/_W01FCpxhRuTj
https://dl.doubtnut.com/l/_Q05tWxM2spZ5


reaction takes 69.3 minutes for 50% completion. How much

time will be needed for 80% completion?

Watch Video Solution

372. Define an expression for the rate constant of a 1st

order reaction. Define half life period. A first order reaction

takes 69.3 minutes for 50% completion. How much time will

be needed for 80% completion?

Watch Video Solution

373. What is zero order reaction? Give one example.

Watch Video Solution

https://dl.doubtnut.com/l/_Q05tWxM2spZ5
https://dl.doubtnut.com/l/_4kzCXXLchvv8
https://dl.doubtnut.com/l/_mWU7qrbfIiWd
https://dl.doubtnut.com/l/_KzwVATlMqQnh


374. Write notes on half-life period.

Watch Video Solution

375. What are the various factors affecting the rate of

reaction.

Watch Video Solution

376. Give distinction between order and molecularity.

Watch Video Solution

377. Discuss collision theory with its limitations.

https://dl.doubtnut.com/l/_KzwVATlMqQnh
https://dl.doubtnut.com/l/_BeBZtRDsQN4C
https://dl.doubtnut.com/l/_tpZjuBWQgtQa
https://dl.doubtnut.com/l/_qsJH3Cqyhkin


Watch Video Solution

378. Write notes on: Arrhenius equation

Watch Video Solution

379. Write short notes on : 

activation energy

Watch Video Solution

380. The sum of the power to which the concentration of

substance appears in the rate expression is known as:

A. Rate of reaction

https://dl.doubtnut.com/l/_qsJH3Cqyhkin
https://dl.doubtnut.com/l/_OIEtdmSPjqRq
https://dl.doubtnut.com/l/_2EYvQWV5XFa5
https://dl.doubtnut.com/l/_ykrQA0yIT0vW


B. Molecularity of reaction

C. Order of reaction

D. None of the above

Answer: C

Watch Video Solution

381. If concentration of reactants is increased by ‘X’, the rate

constant K becomes:

A. 

B. 

C. K

D. 

eK /X

(K/X)

( )
X

K

https://dl.doubtnut.com/l/_ykrQA0yIT0vW
https://dl.doubtnut.com/l/_iT6VoAcj2wpM


Answer: C

Watch Video Solution

382. The hydrolysis of ethyl acetate,

 is:

A. First order

B. Second order

C. Third order

D. Zero order

Answer: A

Watch Video Solution

CH3COOC2H5 + H2O
H +

−−→ CH3COOH + C2H5OH

https://dl.doubtnut.com/l/_iT6VoAcj2wpM
https://dl.doubtnut.com/l/_kPlYXuAJgBJm


383. The rate for the reaction,

 is given by rate=

. The rate of the reaction is:

A. Doubled on doubling the concentration of NaOH

B. Halved on reducing the concentration of RCl to half

C. Decreased on increasing the temperature of the

reaction

D. Unaffected by increasing the temperature of the

reaction

Answer: B

Watch Video Solution

RCl + NaOH(aq) → ROH + NaCl

K1[RCl]

https://dl.doubtnut.com/l/_0ITHEn33zpQc
https://dl.doubtnut.com/l/_4LiWV4dnD2uU


384. The rate of chemical reaction depends on the nature of

chemical reactions, because:

A. The threshold energy level differs from one reaction

to another

B. Some of the reactant are solid at room temperature

C. Some of the reactants are coloured

D. All

Answer: A

Watch Video Solution

385. Which statement is correct:

https://dl.doubtnut.com/l/_4LiWV4dnD2uU
https://dl.doubtnut.com/l/_0XD1JFJdDbTZ


A. Reactions with low activation energy are usually

exothermic

B. The rate law sometimes enables to deduce the

mechanism of a reaction

C. The rate law for a reaction is an algebraic ,expression

relating the forward reaction rate to product

concentration

D. Increase in the total pressure of a gas phase reaction

increase the fraction of collisions effective in

producing reactions

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0XD1JFJdDbTZ


386. For the reaction  , following

mechanism has been provided: 

 


 


Thus rate expression of the above reaction can be written

as:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2NO2 + F2 → 2NO2F

NO2 + F2

slow
−−→ NO2F + F

NO2 + F
FAST
−−−→ NO2F

r = k[NO2]2[F2]

r = k[NO2][F2]

r = k[NO2]

r = k[F2]

https://dl.doubtnut.com/l/_2zzgwdFY2O4Y


387. For a reaction for which the activation energies of

forward and reverse reactions are equal:

A. 

B. 

C. The order is zero

D. There is no catalyst

Answer: A

Watch Video Solution

ΔH = O

ΔS = O

388. The threshold energy of a chemical reaction depends

upon:

https://dl.doubtnut.com/l/_zyOID5Vm3Gsi
https://dl.doubtnut.com/l/_vRVVevSmdvjw


A. Nature of reacting species

B. Temperature

C. Concentration of species

D. Number of collisions per unit time or collision

frequency

Answer: A

Watch Video Solution

389. The order of reaction can be deduced from

A. Chemical equation

B. Experiments

https://dl.doubtnut.com/l/_vRVVevSmdvjw
https://dl.doubtnut.com/l/_PiOGcIMmMyRU


C. Rate constant

D. Thermochemical equation

Answer: B

Watch Video Solution

390. Which rate expression suggests an over all order of 0.5

for the reaction involving substances X, Y, Z:

A. Rate=K[X][Y][Z]

B. Rate

C. Rate

D. Rate

= K[X]0.5[Y ]0.5[Z]0.5

= K[X]1.5[Y ] − 1[Z]0

= K[X][Y ]0 / [Z]2

https://dl.doubtnut.com/l/_PiOGcIMmMyRU
https://dl.doubtnut.com/l/_Rzvg0pHvaibj


Answer: C

Watch Video Solution

391. For a chemical reaction , it is found that the

rate of reaction doubles when the conc, of 'A' is increased

four times. The order of reaction is

A. 2

B. 1

C. 

D. Zero order

Answer: C

Watch Video Solution

A → B

1/2

https://dl.doubtnut.com/l/_Rzvg0pHvaibj
https://dl.doubtnut.com/l/_Cga4Qmd2NwD2


392.  of a first order reaction was found to complete in

16 minute. When will  of the same reaction complete:

A. 32 minute

B. 16 minute

C. 8 minute

D. 4 minute

Answer: B

Watch Video Solution

50 %

75 %

393. The rate constant (K) for the reaction  Product

was found to be  after15 sec, 

2A →

2.5X10− 5Lmol− 1 sec− 1

https://dl.doubtnut.com/l/_Cga4Qmd2NwD2
https://dl.doubtnut.com/l/_uOlf3ENyIeya
https://dl.doubtnut.com/l/_13GeTPC7sEsm


 after 30 sec and

 after 50sec. The order of reaction

is:

A. 20

B. 3

C. Zero

D. 1

Answer: A

Watch Video Solution

2.5X10− 5Lmol− 1 sec− 1

2.55X10− 5Lmol− 1 sec− 1

394. The rate of reaction becomes 2 times for every 

rise in temperature. How the rate of reaction will increases

10∘C

https://dl.doubtnut.com/l/_13GeTPC7sEsm
https://dl.doubtnut.com/l/_YKKkazALlIM0


when temperature is increased from  to 

A. 16

B. 32

C. 64

D. 128

Answer: B

Watch Video Solution

30∘C 80∘C

395. A first order reaction has a half life period of  sec.

At  reactant concentration, rate will be:

A. 

B. 

69.3

0.10mollitre− 1

10− 4M sec− 1

10− 3M sec− 1

https://dl.doubtnut.com/l/_YKKkazALlIM0
https://dl.doubtnut.com/l/_EmqgmcflLZe4


C. 

D. 

Answer: B

Watch Video Solution

10− 1M sec− 1

6.93X10− 1M sec− 1

396. The rate of a reaction  product, increases by a

factor of 100, when cone, of ‘A’ is increased 10 fold. The order

of the reaction is

A. 1

B. 2

C. 10

D. 100

A →

https://dl.doubtnut.com/l/_EmqgmcflLZe4
https://dl.doubtnut.com/l/_j9yzz03VULmf


Answer: B

Watch Video Solution

397. The rate of reaction between two reactants A and B is

expressed as rate = . On doubling the

concentration of both the reactants A and B, the reaction

rate increases by

A. 4 times

B. 3 times

C. 3 time

D. 6 times

Answer: C

K[A][B]2

https://dl.doubtnut.com/l/_j9yzz03VULmf
https://dl.doubtnut.com/l/_QpavbECVn1LR


Watch Video Solution

398. When an allele fails to express itself in presence of the

other allele, the former is said to be -----

A.  is stronger than HCI

B.  is weaker than HCI

C.  and HCl both have the same strength

D. The data are not sufficient to compare the strength of

 and HCI

Answer: A

Watch Video Solution

H2SO4

H2SO4

H2SO4

H2SO4

https://dl.doubtnut.com/l/_QpavbECVn1LR
https://dl.doubtnut.com/l/_S9QtkBZOj4Kp
https://dl.doubtnut.com/l/_VVzW6CM6qL6U


399. The rate constant of a first order reaction is

At a reactant concentration of , the

rate of reaction would be:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4X10− 3 sec− 1 0.02M

8X10− 5M sec− 1

4X10− 3M sec− 1

2X10− 1M sec− 1

4X10− 1M sec− 1

400. The rate constant of order reaction has units :

A. 

nth

litre1 −nmol1 −n sec− 1

https://dl.doubtnut.com/l/_VVzW6CM6qL6U
https://dl.doubtnut.com/l/_JpABtcVXPNZP


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

mol1 −nmol1 −n sec− 1

mol1 −nlitren− 1 sec− 1

401. The Arrhenius equation expressing the effect of

temperature on the rate constant of reaction is:

A. 

B. 

C. 

D. 

K =
Ea

RT

k = Ae−Ea/RT

K = (loge)
Ea

RT

k = e−Ea/RT

https://dl.doubtnut.com/l/_JpABtcVXPNZP
https://dl.doubtnut.com/l/_0wNouOuQBezh


Answer: B

Watch Video Solution

402. Which does not influence the rate of a reaction ?

A. Pressure

B. Concentration of reactant

C. Temperature

D. Molecularity

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_0wNouOuQBezh
https://dl.doubtnut.com/l/_I6TQMuG129GE


403. On addition of  to , white ppt, occurs:

A. Instantaneously

B. With a measurable speed

C. Slowly

D. Slowly

Answer: A

Watch Video Solution

AgNO3 NaCl

404. The temperature coefficient of a reaction is:

A. The rate constant at a fixed temperature

B. The ratio of rate constant at two temperature

https://dl.doubtnut.com/l/_1xtZKen5AaXr
https://dl.doubtnut.com/l/_weQ4ncqNWTXo


C. The ratio of rate constant differing by  preferably 

 and 

D. None of these

Answer: C

Watch Video Solution

10O

25O 35OC

405. In a reaction, the rate expression is, rate =

,the order of reaction is:

A. 1

B. 2

C. 

D. Zero

k[A][B]2 / 3[C]0

5/3

https://dl.doubtnut.com/l/_weQ4ncqNWTXo
https://dl.doubtnut.com/l/_ViBMp5Sc1MAf


Answer: C

Watch Video Solution

406. The elementary step of the reaction

 is found to follow III order kinetics, its

molecularity is:

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

2Na + Cl2 = 2NaCl

https://dl.doubtnut.com/l/_ViBMp5Sc1MAf
https://dl.doubtnut.com/l/_9GsqoXemcvEq


407. If 'a' is the initial concentration of a substance which

reacts according to zero order kinetic and  k'is rate

constant, the time for the reactant to go to completion is,

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

k

a/K

2/k

K/a

2K/a

https://dl.doubtnut.com/l/_9GsqoXemcvEq
https://dl.doubtnut.com/l/_JTofNS5HsmUX


408. A reaction varies independent to the concentration of

reactant, then the order of reaction is:

A. Zero

B. 1

C. 2

D. 3

Answer: C

Watch Video Solution

409. The rate law for the single step reaction

 is given by2A + B → 2C

https://dl.doubtnut.com/l/_GFTJcTQMRh4m
https://dl.doubtnut.com/l/_WvZzxZU1jfug


A. Rate=K[A].[B]

B. 

C. Rate = K[2A].[B]

D. 

Answer: B

Watch Video Solution

Rate = K[A]2. [B]

Rate = K[A]2[B]o

410. The reaction  is started with  of . After 

and  minute, and  of  are left respectively. The

order of reaction.is:

A. 0

B. 2

L → M 10g L 30

90 5g 1.25g L

https://dl.doubtnut.com/l/_WvZzxZU1jfug
https://dl.doubtnut.com/l/_oSD2RDWh0bJD


C. 1

D. 3

Answer: C

Watch Video Solution

411. The activation energy for a reaction is .

The increase in the rate constant when its temperature is

increased from  to  is:

A. 

B. 

C. 

D. 

9.0Kcal/mol

298K 308K

10 %

100 %

50 %

63 %

https://dl.doubtnut.com/l/_oSD2RDWh0bJD
https://dl.doubtnut.com/l/_Mn2g6oWz57QK


Answer: D

Watch Video Solution

412. In a first order reaction, the concentration of the

reactant is decreased from  to  M in 20 minute.

The rate constant of the reaction would be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1.0M 0.25

10
− 1

min

6.931
− 1

min

0.6931
− 1

min

0.06931
− 1

min

https://dl.doubtnut.com/l/_Mn2g6oWz57QK
https://dl.doubtnut.com/l/_YVaY0oZbCaac


413. The rate of a chemical reaction doubles for every 

rise in temperature. If the rate is increased by , the

rate of reaction increases by:

A. 29 times

B. 32 times

C. 64 times

D. 128 times

Answer: C

Watch Video Solution

10∘C

60∘C

https://dl.doubtnut.com/l/_YVaY0oZbCaac
https://dl.doubtnut.com/l/_4iEEes7Ludto


414. The rate of first order reaction  Products, is

 mole .If the concentration of A is 

 mole the rate constant is:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A →

7.5 × 10− 4 litre− 1 sec− 1

0.5 litre − 1

3.75 × 10− 4 sec− 1

2.5 × 10− 5 sec− 1

1.5 × 10− 3 sec− 1

8.0 × 10− 4 sec− 1

415. Consider the reaction 2A+B  C+D. If the rate

expression is rate=  and if concentration of the

→

K[A]2[B]1

https://dl.doubtnut.com/l/_WFTu0JtLxE4c
https://dl.doubtnut.com/l/_A3MMUNoGSHla


reactants are increased by three times, the rate of the

reaction will increase by:

A. 9 times

B. 81 times

C. 64 times

D. 27 times

Answer: D

Watch Video Solution

416. An endothermic reaction  have an activation

energy  and the heat of the reaction is 

A → B

15kcal/mol

https://dl.doubtnut.com/l/_A3MMUNoGSHla
https://dl.doubtnut.com/l/_ccqNTC7UVSfH


. The activation energy of the reaction  is

:

A. 

B. 

C. 

D. Zero

Answer: C

Watch Video Solution

5kcal/mol B → A

20kcal/mol

15kcal/mol

10kcal/mol

417. The rate of a reaction is doubled for every  rise in

temperature. The increase in rate as a result of increase in

temperature from  to  is:

10∘C

10∘C 100∘C

https://dl.doubtnut.com/l/_ccqNTC7UVSfH
https://dl.doubtnut.com/l/_iBmLVZImlBuZ


A. 112

B. 512

C. 400

D. 256

Answer: B

Watch Video Solution

418. How much faster would a reaction proceed at 

than at  if the activation energy is :

A. 2 times

B. 16 times

C. 11 times

25∘C

0∘C 65kJ

https://dl.doubtnut.com/l/_iBmLVZImlBuZ
https://dl.doubtnut.com/l/_pLJfPsmhojGo


D. 6 times

Answer: C

Watch Video Solution

419. For a reaction A+B  Products, it is observed that

doubling the concentration of B causes the reaction rate to

increase four times, but doubling the concentration of A

has no effect on the rate of reaction. The rate equation is

threfore

A. 

B. 

C. Rate=K[A][B]

→

Rate = K[A]2

Rate = K[B]2

https://dl.doubtnut.com/l/_pLJfPsmhojGo
https://dl.doubtnut.com/l/_gVu6ZBvJIEri


D. Rate = K[A]

Answer: B

Watch Video Solution

420. The minimum energy, required for molecules to enter

into chemical reaction is called:

A. Kinetic energy

B. Potential energy

C. Threshold energy

D. Activation energy

Answer: C

W h Vid S l i

https://dl.doubtnut.com/l/_gVu6ZBvJIEri
https://dl.doubtnut.com/l/_JHUynjFc9U1J


Watch Video Solution

421. Which statement is correct ?

A. Molecularity of a reaction is same as the order of

reaction

B. In some cases order of reaction may be same as the.

molecularity of the reaction

C. Both (a) and (b) are correct

D. All are incorrect

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JHUynjFc9U1J
https://dl.doubtnut.com/l/_lC2dSTwr09z2
https://dl.doubtnut.com/l/_2R5E5S7bQcvI


422. Collision theory satisfactorilly explains for:

A. First order reactions

B. Zero order reactions

C. Bimolecular reactions

D. Any order reactions

Answer: C

Watch Video Solution

423. According to the Arrhenius equation a straight line is.

to be obtained by plotting the logarithm of the rate

constant of a chemical reaction (log k) against:

A. T

https://dl.doubtnut.com/l/_2R5E5S7bQcvI
https://dl.doubtnut.com/l/_wQLrY8fEueXL


B. log T

C. 

D. 

Answer: C

Watch Video Solution

1/T

log 1/T

424. The inversion of cane sugar into glucose and fructose

is:

A.  order

B. order

C.  order

D. Zero order

I

II

III

https://dl.doubtnut.com/l/_wQLrY8fEueXL
https://dl.doubtnut.com/l/_1xb3nrAP62sE


Answer: A

Watch Video Solution

425. Number of mole of a substance present in 1 litre

volume is known as:

A. Activity

B. Molar concentration

C. Active mass

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1xb3nrAP62sE
https://dl.doubtnut.com/l/_QQtglNGUfdtd
https://dl.doubtnut.com/l/_QXhOQqpFxwx8


426. The number of molecules of the reactants taking part

in a single step of the reaction tells about:

A. Molecularity of the reaction

B. Mechanism, of the reaction

C. Order of reaction

D. All

Answer: A

Watch Video Solution

427. Rate of a chemical reaction can be kept constant by:

A. Stirring the compounds

https://dl.doubtnut.com/l/_QXhOQqpFxwx8
https://dl.doubtnut.com/l/_lKegjCDuVPwP


B. Keeping the temperature constant

C. Both (a) and (b)

D. None

Answer: B

Watch Video Solution

428. Which statement about molecularity of a reaction is

wrong:

A. It is the number of molecules of the reactants taking

part in a single step of reaction

B. It is calculated from the reaction mechanism

C. It may be either whole number of fractional

https://dl.doubtnut.com/l/_lKegjCDuVPwP
https://dl.doubtnut.com/l/_lQ65CJBuyqo1


D. None

Answer: C

Watch Video Solution

429. Inversion of a sugar follows first order rate equation

which can be followed by noting the change in rotation of

the plane of polarization of light in the polarimeter

,  and , t=t and t=0, then, first order

reaction can be written as:

A. 

B. 

C. 

if r∞ rt t = ∞

K = log_e
1

t

r1 − r∞

r0 − r∞

K = In
1

t

r0 − r∞

rt − r∞

K = In
1

t

r∞ − r0

r∞ − rt

https://dl.doubtnut.com/l/_lQ65CJBuyqo1
https://dl.doubtnut.com/l/_ohduAT7VRfOF


D. 

Answer: B

Watch Video Solution

K = In
1

t

r∞ − r1

r∞ − r0

430. At  the half life for the decomposition of  is

5.7 hr and is independent of initial pressure of . The

specific rate constant is:

A. 

B. 

C. `5.7//0.693

D. None

250∘C N2O5

N2O5

0.693/5.7

0.693 × 5.7

https://dl.doubtnut.com/l/_ohduAT7VRfOF
https://dl.doubtnut.com/l/_F9l0jRLUSM4S


Answer: A

Watch Video Solution

431. For a given reaction .of first order, it takes 20 minute for

the concentration to drop from  to 

litre^-1

litre^-1 M will be:

A. More than 20 minute

B. Less than 20 minute

C. Equal to 20 minute

D. Infinity

1.0Mlitre− 1 0.6M

timerequiredf or theconcentration → dropom0.6M

→ 0.36 litre− 1

https://dl.doubtnut.com/l/_F9l0jRLUSM4S
https://dl.doubtnut.com/l/_vMBMD75lPPIu


Answer: C

Watch Video Solution

432. In a first order reaction  was found to be 8

after l0minute. The rate constant is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a/(a − x)

(2.303 × 3 log 2) /10

(2.303 × 2 log 3) /10

10 × 2.303 × 2 log 3

10 × 2.303 × 3 log 2

https://dl.doubtnut.com/l/_vMBMD75lPPIu
https://dl.doubtnut.com/l/_OEK2qQfStEmW
https://dl.doubtnut.com/l/_43YVbll7pBIz


433. For the reaction A + B Product, it is found that the

order of A is 2 and of B is 3 in the rate expression. When

concentration of both is doubled, the rate will increase by:

A. 10

B. 6

C. 32

D. 16

Answer: C

Watch Video Solution

→

434. The rate law of the reaction,  is

represented as Rate . If  is taken in large

2A + B → 2AC

= K[A]2[B] A

https://dl.doubtnut.com/l/_43YVbll7pBIz
https://dl.doubtnut.com/l/_EhCaaKsW9JiR


excess, the order of the reaction will be,

A. Zero

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

435. If a reaction with  second, has a rate

constant  per second, the order is:

A. Zero

B. 1

t1 /2 = 69.3

10− 2

https://dl.doubtnut.com/l/_EhCaaKsW9JiR
https://dl.doubtnut.com/l/_bN966QqacXwY


C. 2

D. 3

Answer: B

Watch Video Solution

436. The specific reaction rate constant for a first, order

reaction is  If the initial concentration of

the reaction is  mole per litre, the rate is:

A. 

B. 

C. 

D. 

60 × 10− 4 sec− 1

0.01

60 × 10− 6M sec− 1

36 × 10− 4M sec− 1

60 × 10− 2M sec− 1

36 × 10− 1M sec− 1

https://dl.doubtnut.com/l/_bN966QqacXwY
https://dl.doubtnut.com/l/_uoHcN0UTiC1T


Answer: A

Watch Video Solution

437. K for a zero order reaction  If

the concentration of the reactant after 25 sec is 0.5 M, the

initial concentration must have been:

A. 0.5M

B. 1.25M

C. 12.5M

D. 1.0M

Answer: A

Watch Video Solution

2 × 10− 2molL− 1 sec− 1

https://dl.doubtnut.com/l/_uoHcN0UTiC1T
https://dl.doubtnut.com/l/_htMeQ7cEy0S2


438. A first order reaction is carried out with an initial

concentration of 10 mole per litre and  of the reactant

changes into the product. Now if the same - reaction is

carried out with an initial concentration of
 5 mol per litre

the percentage of the reactant changing to the product is:

A. 40

B. 80

C. 160

D. Cannot be calculated

Answer: B

Watch Video Solution

80 %

https://dl.doubtnut.com/l/_htMeQ7cEy0S2
https://dl.doubtnut.com/l/_HTu1NfU4zaLg


439. What fraction of a reactant showing first order remains

after 40 minute if is 20 minute ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1 /2

1/4

1/2

1/8

1/6

440. Radioactive decay follows…..order kinetics.

A. Zero

https://dl.doubtnut.com/l/_ioh9EMdREmeH
https://dl.doubtnut.com/l/_KaWBkQkU9jop


B. I

C. II

D. III

Answer: B

Watch Video Solution

441. In the reaction, A+ 2B  3C+D which of the following

expression does not describe changes in the. concentration

of various species as a function of. time:

A. 

B. 

C. 

→

=
d[C]

dt

−3d[A]

dt

=
3d[D]

dt

d[C]

dt

=
3d[B]

dt

−2d[C]

dt

https://dl.doubtnut.com/l/_KaWBkQkU9jop
https://dl.doubtnut.com/l/_UljJGinkOwd5


D. 

Answer: D

Watch Video Solution

=
2d[B]

dt

d[A]

dt

442. The decomposition of  by 

follows first order kinetics. Select the incorrect statement.

A. The reaction is bimolecular

B. The reaction is unimolecular

C. 

D. None of the above

Answer: C

N2O5 2N2O5 → 4NO2 + O2

t1 / 2∞a ∘

https://dl.doubtnut.com/l/_UljJGinkOwd5
https://dl.doubtnut.com/l/_1z6lE1Ufy9Ta


Watch Video Solution

443. For an endothermic reaction where,  represent the

enthalpy of the reaction in , the minimum value for

energy of activation will be

A. Less than 

B. Zero

C. More than 

D. Equal to 

Answer: C

Watch Video Solution

ΔH

kJ/mol

ΔH

ΔH

ΔH

https://dl.doubtnut.com/l/_1z6lE1Ufy9Ta
https://dl.doubtnut.com/l/_F3F7yHRBTOmP


444. The half life for a reaction is…..of temperature:

A. Independen

B. increase with increase

C. Decreased with increase

D. Dependent

Answer: C

Watch Video Solution

445. The rate-of chemical reaction (except zero order):

A. Decreases from moment to moment

B. Remains constant, throughout

https://dl.doubtnut.com/l/_LZ2BkMmu8h7M
https://dl.doubtnut.com/l/_2JlFn5xYeK4F


C. Independent of the order of reaction

D. None of the above

Answer: A

Watch Video Solution

446. The acid hydrolysis of ester is:

A. First order reaction

B. Bimolecular reaction

C. Pseudo unimolecular reaction

D. All

Answer: D

https://dl.doubtnut.com/l/_2JlFn5xYeK4F
https://dl.doubtnut.com/l/_Wds6PqRFMhy5


Watch Video Solution

447. For a reaction of II order kinetics,  is:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

t1 /2

∞a

∞a− 3

∞a2

∞a− 1

448. The reaction,

CH3COOC2H5 + NaOH → CH3COONa + C2H5OH

https://dl.doubtnut.com/l/_Wds6PqRFMhy5
https://dl.doubtnut.com/l/_ROqRqGwZbzIA
https://dl.doubtnut.com/l/_HSw6ygGMPSqX


is:

A. Bimolecular reaction

B. II order reaction

C. Both (a) and (b)

D. None of the above

Answer: C

Watch Video Solution

449. The rate for a first order reaction is

 and the initial concentration

of the reactant is 1 M,  is equal to:

A. 

0.6932 × 10− 2molL− 1
− 1

min

t1 / 2

0.6932x10− 2 min ute

https://dl.doubtnut.com/l/_HSw6ygGMPSqX
https://dl.doubtnut.com/l/_s9RNWTTsPO68


B. 

C. 100minute

D. 6.932minute

Answer: C

Watch Video Solution

0.6932xx10− 2

450. The rate constant for a second order reaction is

. How long will it take a IM solution to

be reduced to 0.5 M:

A.  minute

B.  minute

C.  minute

8 × 10− 5M − 1
− 1

min

8.665x103

8xIO− 5

1.25xJO4

https://dl.doubtnut.com/l/_s9RNWTTsPO68
https://dl.doubtnut.com/l/_BDX1CXmq1LBj


D. minute

Answer: C

Watch Video Solution

4x10− 5

451. For a first order reaction A  Products, the rate of

reaction at [A] = 0.2 M is . The half life

period for the reaction is:

A. 832 sec

B. 440 sec

C. 416 sec

D. 14 sec

→

10− 2mollitre− 1
− 1

min

https://dl.doubtnut.com/l/_BDX1CXmq1LBj
https://dl.doubtnut.com/l/_K8VV0RGzxHVd


Answer: A

Watch Video Solution

452. For , The

activation energy of the forward reaction is 85 kJ .

The activation energy for backward reaction is…….kJ :

A. 65

B. 105

C. 85

D. 40

Answer: B

Watch Video Solution

A + B → C + D, ΔH = − 20kJmol− 1

mol− 1

mol− 1

https://dl.doubtnut.com/l/_K8VV0RGzxHVd
https://dl.doubtnut.com/l/_zR62xRGPWcN0


453. In a reaction 2A  Products: the concentration of A

decreases from  to  in 10

minutes. The rate of reaction during this interval is:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

→

0.5mollitre− 1 0.4mollitre− 1

0.05M
− 1

min

0.005M
− 1

min

0.5M
− 1

min

5M
− 1

min

https://dl.doubtnut.com/l/_zR62xRGPWcN0
https://dl.doubtnut.com/l/_bGRy7CpswVtS


454. The rate constant is numerically same for three

reactions of 1st, 2nd and 3rd order respectively. If conc, of

the reactant is more than 1M, which one is true for the rates

of the three reactions ?

A. 

B. 

C. 

D. All

Answer: C

Watch Video Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

https://dl.doubtnut.com/l/_hoXe4jLVFh1L


455. In the above problem if concentration of reactant is

less than 1 M then:

A. 

B. 

C. 

D. All

Answer: B

View Text Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

456. In the above problem if concentration of reactant is 1 M

then:

https://dl.doubtnut.com/l/_8y2dy858CUUp
https://dl.doubtnut.com/l/_Brw0uAis6TMb


A. 

B. 

C. 

D. All

Answer: A

View Text Solution

r2 = r2 = r3

r1 > r2 > r3

r1 < r2 < r3

457. The unit of rate constant for the reaction obeying rate

expression,  IS:

A. 

B. 

C. 

r = K[A]1[B]2 / 3

Mol− 2 / 3litre2 / 3time− 1

Mol2 / 3litre− 2 / 3time− 1

Mol− 5 / 3litre− 2 / 3time− 1

https://dl.doubtnut.com/l/_Brw0uAis6TMb
https://dl.doubtnut.com/l/_Rl2Q1dBqu0zW


D. None of these

Answer: A

Watch Video Solution

458. For a reaction, 

The expression for will be:

A. 

B. 

C. 

D. 

Answer: B

2A + B → C + D, = K[A]2[B]
d[A]

dt
d[B]

dt

K[A]2[B]

( )K[A]2[B]
1

2

K[A]2[2B]

K[2A]2[B]

https://dl.doubtnut.com/l/_Rl2Q1dBqu0zW
https://dl.doubtnut.com/l/_vRdYap4lTEVu


Watch Video Solution

459. The rate constant  of one reaction is found to be

double than that of rate constant  of another reaction.

Then the relation between the corresponding activation

energies of the two reactions  can be

represented as,

A. 

B. 

C. 

D. None of the above

Answer: D

Watch Video Solution

Ka

Ka' '

Ea' and Ea' '

E1 > E2

E1 < E2

E1 = E2

https://dl.doubtnut.com/l/_vRdYap4lTEVu
https://dl.doubtnut.com/l/_OodOs5NRjNnQ


460. In many reactions, the reaction proceeds in a sequence

of steps, so the overall rate is determined by:

A. Outer of different steps

B. Slowest step

C. Molecularity of the steps

D. Fastest step

Answer: B

Watch Video Solution

461. Which statement is true ?

https://dl.doubtnut.com/l/_OodOs5NRjNnQ
https://dl.doubtnut.com/l/_AXIfJ9VoSa4h
https://dl.doubtnut.com/l/_DdxZlrF03008


A. Endothermic reactions have higher activation

energies than exotlhermic reactions

B. The specific rate constant for a reaction is

independent of the concentration of the reacting

species

C. There is a single rate determining step in any reaction

mechanism

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DdxZlrF03008


462. The rate law of the reaction,  is

represented as Rate . If  is taken in large

excess, the order of the reaction will be,

A. zero

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

2A + B → 2AC

= K[A]2[B] A

463. The rate of the elementary reaction,

 when the volume of the reaction2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_jHPg5kagBC22
https://dl.doubtnut.com/l/_vFfnFGbL3bMr


vessel is doubled:

A. Will grow eight times of its initial rate

B. Reduce to one-eight of its initial rate

C. Will grow four times of its initial rate

D. Reduce to one-fourth of its initial-rate

Answer: B

Watch Video Solution

464. Which statement is correct ?

A. Law of mass action and rate law expressions are same

for single step reactions

https://dl.doubtnut.com/l/_vFfnFGbL3bMr
https://dl.doubtnut.com/l/_QcV5bn5I3mCi


B. Order of the slowest elementary reaction of a complex

reaction, gives the order of the complex reaction

C. Both order and molecularity have normally a

maximum value of 3

D. All

Answer: D

Watch Video Solution

465. Rate of which reactions increases with temperature:

A. Of any

B. Of exothermic reactions

https://dl.doubtnut.com/l/_QcV5bn5I3mCi
https://dl.doubtnut.com/l/_QyucouVXdi42


C. Of endothermic reactions

D. Of none

Answer: A

Watch Video Solution

466. Which will lead to a change in the rate constant K of a

reaction:

A. A change in the pressure

B. Change in temperature

C. Change in the volume of the reaction vessel

D. All

https://dl.doubtnut.com/l/_QyucouVXdi42
https://dl.doubtnut.com/l/_oKVr1WmJLAgz


Answer: B

Watch Video Solution

467. For a given reaction half life period was found to be

directly proportional to the initial concentration of the

reactant. The order is:

A. Zero

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oKVr1WmJLAgz
https://dl.doubtnut.com/l/_KkPHxwE45Gk1


468. The reaction , obey.s the

following mechanism:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2NO + Br2 → 2NOBr

r = [NO]2[Br2]

r = K[NO][Br2]

r = K[NO][Br2]2

r = K[NOBr2]

469. Activation energy of a reaction is:

https://dl.doubtnut.com/l/_KkPHxwE45Gk1
https://dl.doubtnut.com/l/_oGSeNfynvtfB
https://dl.doubtnut.com/l/_cOZYesOMUKam


A. The energy released during the reaction

B. The energy evolved when activated complex is formed

C. Minimum amount of energy needed to overcome the

potential barrier of reaction

D. The energy needed to form one mole of the product

Answer: C

Watch Video Solution

470. According to law of mass action, the rate of reaction is

directly proportional to:

A. Active masses of reactants

B. Equilibrium constant

https://dl.doubtnut.com/l/_cOZYesOMUKam
https://dl.doubtnut.com/l/_oXBOZbF6nZq0


C. Active masses of products

D. Pressure

Answer: A

Watch Video Solution

471. According to collision theory:

A. Collisions are sufficiently violent

B. All collision are responsible for reaction

C. All collisions are effective

D. Only highly energies molecules have enough energy

to react

https://dl.doubtnut.com/l/_oXBOZbF6nZq0
https://dl.doubtnut.com/l/_2kpi7r3Zrldh


Answer: D

Watch Video Solution

472. Point out the incorrect statement:

A. Rate law is an experimental value

B. Law of mass action is a theoretical proposal

C. Rate law is more informative .than law of mass action

for developing mechanism

D. Rate law is always different from, the expression of

law of mass action

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_2kpi7r3Zrldh
https://dl.doubtnut.com/l/_lLGmr2ZkAyFb


Watch Video Solution

473. For the hydrolysis of esters in alkaline medium rate

expression is : =K[Ester][Alkali] In case alkali used

is in excess, then the overall order of the reaction is:

A. Zero

B. First

C. Same

D. Third

Answer: B

Watch Video Solution

−
d[ester]

dt

https://dl.doubtnut.com/l/_lLGmr2ZkAyFb
https://dl.doubtnut.com/l/_Rzn3HpjFkPaw


474. The rate of reaction,  is given by: 


 . The order of the

reaction is:

A. 1

B. 2

C. 

D. 

Answer: D

Watch Video Solution

A + B + C → P

r = − = K[A]1 / 2[B]1 / 2[C]1 / 4d[A]

dt

1/2

5/4

475. On increasing the temperature by 10 K in the case of

slow reactions:

https://dl.doubtnut.com/l/_gdJzLwR8k0wk
https://dl.doubtnut.com/l/_iEvFbeuixaw6


A. No. of collisions get doubled

B. Value of rate constant increase

C. Energy of activation increases

D. None of the above

Answer: D

Watch Video Solution

476. At room temperature, the reaction between NO and 

to give  is the fast, while that between CO and is

slow. It is due to:

A. CO is smaller in size than that of NO

B. CO is poisonous

O2

NO2 O2

https://dl.doubtnut.com/l/_iEvFbeuixaw6
https://dl.doubtnut.com/l/_rVlR3iFIRxvt


C. The activation energy for the reaction,

is less then 

D. None of these

Answer: C

Watch Video Solution

2NO + O2 → 2NO2 2CO + O2 → 2CO2

477. The reaction,  follow zero order kinetics.

The differential rate equation for the reaction is:

A. 

B. 

C. 

D. 

2A → B + C

o = K[A]0dx

d

o = K[A]2dx

d

o = K[B][C]
dx

d

o = K[A]
dx

d

https://dl.doubtnut.com/l/_rVlR3iFIRxvt
https://dl.doubtnut.com/l/_EXtD3KIMwSKd


Answer: A

Watch Video Solution

478. Given that K is the rate constant for some order of any

reaction at temp T then the value of _____.

(where A is the arrhenius constant):

A. 

B. A

C. 2.303A

D. log A

Answer: D

Watch Video Solution

T lim → ∞logK

A/2.303

https://dl.doubtnut.com/l/_EXtD3KIMwSKd
https://dl.doubtnut.com/l/_1MO2wFxvy9Ho


479. In the following first order competing reactions: 

A + Reagent Product 


B + Reagent Product 


The ratio of  if only 50% of B will have been

reacted.when 94% of A has been reacted is:

A. 4.06

B. 0.246

C. 2.06

D. 0.06

Answer: A

Watch Video Solution

→

→

K1

K2

https://dl.doubtnut.com/l/_1MO2wFxvy9Ho
https://dl.doubtnut.com/l/_2qRb7Mvm0hnB


480. In gaseous reactions important for-the understanding

of the upper atmosphere  and O react bimolecularly to

form two OH radicals.  for this reaction is 72 kJ at 500 K

and  is 77 kJ , then  for the bimolecular

recombination of two OH radicals to form  and O is::

A. 3kj

B. 4kj 

C. 5kj 

D. 7kj

Answer: C

Watch Video Solution

H2O

ΔH

Ea mol− 1 Eb

H2O

mol− 1

moll− 1

moll− 1

mol− 1

https://dl.doubtnut.com/l/_rpdhAKcBm79T


481. From the following data, the activation energy for the

reaction is (cal/mol):
 ---->2HI

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

H2 + I2

4 × 104

2 × 104

8 × 104

3 × 104

482. The hydrolysis of ester was carried out separately with

0.05 N HCl and 0.05 N . Which of the following will

be true:

H2SO4

https://dl.doubtnut.com/l/_stWnEJuaonO8
https://dl.doubtnut.com/l/_9SsT5u0ZdxK4


A. 

B. 

C. K_(H_2SO_4)=2K_(HCL)`

D. 

Answer: B

Watch Video Solution

KHCI > KH2SO4

KH2SO4 > KHCL

KH2SO4 = KHCL

483. For a reaction  Products, the rate of the

reaction was doubled when the concentration of A was

doubled. When the concentration of A and B were doubled,

the rate was again doubled, the order of the reaction with

respect to A and B are:

A + B →

https://dl.doubtnut.com/l/_9SsT5u0ZdxK4
https://dl.doubtnut.com/l/_4niPtg9xLHWp


A. 1,1

B. 2,0

C. 1,0

D. 0,1

Answer: C

Watch Video Solution

484. The time for half of a first order reaction is l hr. What is

the time taken for  completion of the reaction:

A. 1 hour

B. 2 hour

C. 3 hour

87.5 %

https://dl.doubtnut.com/l/_4niPtg9xLHWp
https://dl.doubtnut.com/l/_1qfKRXGBK0j3


D. 4 hour

Answer: C

Watch Video Solution

485. The rate constant, the activation energy and the

Arrhenius parameter of a chemical reaction at  are 

 and 

respectively. The value of the rate constant as T  is:

A. 

B. 

C. Infinity

D. 

25∘C

3.0 × 10− 4S − 1, 104.4kjmol− 1 6.0 × 1014s− 1

→ ∞

2.0 × 1018s− 1

6.0 × 1014s− 1

3.6 × 1030s− 1

https://dl.doubtnut.com/l/_1qfKRXGBK0j3
https://dl.doubtnut.com/l/_N0czCuOFXwP4


Answer: B

Watch Video Solution

486. In a gaseous phase reaction:

,), the increases in pressure

from 100 mm to 120 mm is noticed in 5 minute. The total of

disappearance of A_2 is : is:

A. 4

B. 8

C. 16

D. 2

Answer: B

A2(g) → B(g) + (1/2)C(g)

mm
− 1

min

https://dl.doubtnut.com/l/_N0czCuOFXwP4
https://dl.doubtnut.com/l/_wDLfibhgskjk


Watch Video Solution

487. The term (-dC/dt) in rate equation refers to:

A. The concentration of a reactant

B. The decrease in concentration of the reactant with

time

C. The velocity constant of reaction

D. None

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wDLfibhgskjk
https://dl.doubtnut.com/l/_DDfH1hxmK5Hl


488. Two reaction A  products and B  products have

rate constants  and at temperature, T and activation

energies  and  respectively. If & and 

 and assuming that A for both the reactions is

same then:

A. At higher temperature  will be greater than 

and 

B. At lower temperature  and kg will differ more and 

C. As temperature rises  and  will be close to each

other in magnitude

D. All

→ →

kA KB

EA EB KA > KB

EA < EB

khan KB

KA > KB

kA

KA > KB

kA KB

https://dl.doubtnut.com/l/_807H6JPslcoa


Answer: D

Watch Video Solution

489. The rate of reaction:

A. Decreases with time

B. Decreases with decrease in concentration of reactant

C. Decreases, with increase in time and decrease in

concentration of reactant

D. None

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_807H6JPslcoa
https://dl.doubtnut.com/l/_56vTqZbjGumh


490. Which order of reaction obeys the relation

:

A. First

B. Second

C. Third

D. Zero

Answer: B

Watch Video Solution

t1 / 2 = 1/ka

491. Plot of log (a- x) vs time t is straight line. This indicates

that the reaction is of:

https://dl.doubtnut.com/l/_jU81Lq2Qa18j
https://dl.doubtnut.com/l/_SPNbfRy5VPPK


A. Second order

B. First order

C. Zero order

D. Third order

Answer: B

Watch Video Solution

492. A graph, ploted between concentration of reactant

consumed at any time (x) and time t is found to be a

straight line passing through the origin. Thus reaction is of:

A. First order

B. Second order

https://dl.doubtnut.com/l/_SPNbfRy5VPPK
https://dl.doubtnut.com/l/_sjIwnPNrBHgi


C. Third order

D. All

Answer: B

Watch Video Solution

493. Combustion of carbon is exothermic, but coal stored in

coal depots does not bum automatically because of:

A. High threshold energy barrier

B. Kinetic stability of coal

C. 'Higher energy of activation needed for burning

D. Half order

https://dl.doubtnut.com/l/_sjIwnPNrBHgi
https://dl.doubtnut.com/l/_Kwg3pETOjZ6k


Answer: D

Watch Video Solution

494. The rate constant for a reaction is  mole 

. The reaction obeys:

A. First order

B. Zero order

C. Second order

D. Half order

Answer: B

Watch Video Solution

10.8 × 10− 5

litre− 1 sec− 1

https://dl.doubtnut.com/l/_Kwg3pETOjZ6k
https://dl.doubtnut.com/l/_3c5KBRf8dMfJ
https://dl.doubtnut.com/l/_WM0UpLLgRUug


495. The unit of rate constant and that of rate of reaction

are same for:

A. First order

B. Zero order

C. Second order

D. Half order

Answer: B

Watch Video Solution

496. If a is the initial concentration then time required to

decompose half of the substance for nth order is inversely

proportional to:

https://dl.doubtnut.com/l/_WM0UpLLgRUug
https://dl.doubtnut.com/l/_IWMaz7TF8eKh


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

an

an− 1

a1 −n

an− 2

497. According to collision theory:

A. Every collision between reactants leads to chemical

reaction

https://dl.doubtnut.com/l/_IWMaz7TF8eKh
https://dl.doubtnut.com/l/_L6Bf4iR5taej


B. Rate of reaction is proportional to velocity of

molecules

C. All reactions which occur in gaseous phase are zero

order reactions

D. Rate of reaction is directly proportional to collision

frequency

Answer: D

Watch Video Solution

498. Which statement is not correct ?

https://dl.doubtnut.com/l/_L6Bf4iR5taej
https://dl.doubtnut.com/l/_U6JxK53uA35n


A. For endothermic reactions, heat of reaction is lesser

than energy of activation

B. For exothermic reactions, heat of reaction is more

than energy of activation

C. For exothermic reactions energy of activation is .less

in forward reaction than in backward reaction

D. For endothermic reactions energy of activation is

more in forward reaction than in backward reaction

Answer: B

Watch Video Solution

499. Which of the following statement is correct?

https://dl.doubtnut.com/l/_U6JxK53uA35n
https://dl.doubtnut.com/l/_pHl1To7GqUom


A. The rate of disappearance of X = twice the rate of

disappearance of Y

B. The rate of disappearance of X = 1/2 rate of

appearance of products

C. The rate of apperance of products =  the rate of

disapperance of Y

D. The rate of apperance of products =  the rate of

disapperance of X

Answer: C

Watch Video Solution

1/2

1/2

https://dl.doubtnut.com/l/_pHl1To7GqUom


500. Select the intermediate in the following reaction

mechanism:




A. 

B. O(g)

C. 

D. None of above

Answer: B

Watch Video Solution

O3(g) ⇔ O2(g) + O(g)

O(g) + O3(g) → 2O2

O3(g)

O2(g)

https://dl.doubtnut.com/l/_UP77erOlK5mi


501. If the concentration units are reduced by n times, then

the value of rate constant of first order will:

A. Increase by n times

B. Decrease by factor of n

C. Not change

D. None of the above

Answer: C

Watch Video Solution

502. The reaction  exhibits:

A. Small negative temperature coefficient

NO + (1/2)O2 → NO2

https://dl.doubtnut.com/l/_bcoXVJJ9NBdD
https://dl.doubtnut.com/l/_Ifjcri1osVvQ


B. Decrease in value of K with, temperature

C. Decrease in value of rate^ivith temperature

D. All

Answer: B

Watch Video Solution

503. For the reaction, ,The statement

not correct is:

A. The rate of disappearance of B is one fourth the rate

of disappearance of A

B. The rate of appearance of C is half the rate of

disappearance of B

4A + B → 2C + 2D

https://dl.doubtnut.com/l/_Ifjcri1osVvQ
https://dl.doubtnut.com/l/_0ujcTco8zeLq


C. The rate of formation of D is half the rate of

consumption of A

D. The rates of formation of C and D are equal

Answer: B

Watch Video Solution

504. The rate constant of a reaction depends upon

A. Temperature

B. Initial concentration of the reactants

C. Time of reaction

D. Extent of reaction

https://dl.doubtnut.com/l/_0ujcTco8zeLq
https://dl.doubtnut.com/l/_h9ao6YE4O2l2


Answer: A

Watch Video Solution

505. A large increase in rate of reaction for a rise of

tempeature is due to

A. Increase in the number of collisions

B. Increase in the number of activated molecules

C. Lowering of activation energy

D. Shortening of the mean free path

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_h9ao6YE4O2l2
https://dl.doubtnut.com/l/_7vvg2VTMUY3b
https://dl.doubtnut.com/l/_jntqbet0aFGN


506. Mathematical expression for  i.e., when 

reaction is over following first order kinetics can be given

by:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

t1 / 4 (1/4)th

t1 / 4 = log 4
2.303

K

t1 / 4 = log 2
2.303

K

t1 / 4 = log
2.303

K

4

3

t1 / 4 = log
2.303

K

3

4

507. The rate constant for the reaction

 is . If the rate is 2N2O5 → 2N2O4 + O2 3 × 10− 5 sec− 1

https://dl.doubtnut.com/l/_jntqbet0aFGN
https://dl.doubtnut.com/l/_M4PCcdmdfsSI


 M , the concentration of  is

A. 1.4

B. 1.2

C. 0.04

D. 0.8

Answer: D

Watch Video Solution

2.4 × 10− 5 sec− 1 N2O5

508. For a given reaction rate = K , the unit of

rate constant K can be given as

A. 

B. 

(A)1(B)2 / 3

mol− 1 / 3litre2 / 3time− 1

mol1 / 3litre− 2 / 3time− 1

https://dl.doubtnut.com/l/_M4PCcdmdfsSI
https://dl.doubtnut.com/l/_odOvyAcMa3oQ


C. 

D. None of the above

Answer: A

Watch Video Solution

mol− 1 / 3litre− 2 / 3time− 1

509. The inversion of cane sugar proceeds with half life of

500 minute at pH = 5 for any concentration of sugar.

However, if pH=6, the half life changes to 50 minute. The rate

law expression for the sugar inversion can be written as

A. 

B. 

C. 

r = k(sugar)2(H + )
0

r = k(sugar)1(H + )
0

r = k(sugar)1(H + )
1

https://dl.doubtnut.com/l/_odOvyAcMa3oQ
https://dl.doubtnut.com/l/_vLWBJKZyTJN2


D. 

Answer: B

Watch Video Solution

r = k(sugar)0(H + )
1

510. Two substances A and B are present such that [A]=：  4

[B] and half life of A is 5 minute and of B is 15 minute. If they

start decaying at the same time following first order, how

much time later will the concentration of both of them

would be same

A. 15 minute

B. 10 minute

C. 5minute

https://dl.doubtnut.com/l/_vLWBJKZyTJN2
https://dl.doubtnut.com/l/_UF56xaMDS90L


D. minute

Answer: A

Watch Video Solution

511. Milk turns sour at  three times as faster as at .

The energy of activation for souring of milk is:

A. 4.693 kcal

B. 2.6 kcal

C. 6.6kcal

D. None of these

Answer: A

W h Vid S l i

40∘C 0∘C

https://dl.doubtnut.com/l/_UF56xaMDS90L
https://dl.doubtnut.com/l/_2MbMfIyaT0DF


Watch Video Solution

512. The order of a gaseous phase reaction for which rate

becomes half if volume of-container having same amount of

reactant is doubled is:

A. 1

B. 2

C. 

D. 

Answer: A

Watch Video Solution

1/2

1/3

https://dl.doubtnut.com/l/_2MbMfIyaT0DF
https://dl.doubtnut.com/l/_hVaqS01spPjV


513. For the non-equilibrium process,  products,

the rate is first order with respect to A and second order

with respect to B. If 1.0 mol each of A and B are introduced

into a 1 litre vessel,and the initial rate were 

mol/litre sec.The rate (in mol ) when half of

the reactants have been used:

A. 

B. 

C. 

D. None of the above

Answer: A

Watch Video Solution

A + B →

1.0 × 10− 2

litre− 1 sec− 1

1.2 × 10− 3

1.2 × 10− 2

1.2 × 10− 4

https://dl.doubtnut.com/l/_BbxOWCAfhSji


514. Hydrogenation of vegetable ghee at  reduces

pressure of  from 2 atm to 1.2 atm in 50 minute. The

pressure of from 2 atm to 1.2 atm in 50 minute. The rate

of reaction in terms of molarity per second is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25∘C

H2

H2

1.09 × 10− 6

1.09 × 10− 5

1.09 × 10− 7

1.09 × 10− 5

https://dl.doubtnut.com/l/_hZCc4hMm48jM


515. Ethylene is produced by 

Cyclobutane. The rate constant is . In

what time will the molar ratio of the ethylene to

cyclobutane in reaction mixture attain the value 1:

A. 27.25 minute

B. 28.25 minute

C. 25 minute

D. 20 minute

Answer: A

Watch Video Solution

C4H8

Δ
−−→ 2C2H4

2.48 × 10− 4 sec− 1

516. Effective collisions are those in which molecules must:

https://dl.doubtnut.com/l/_DVpxI7TZT1qD
https://dl.doubtnut.com/l/_ze2S0XViAwJD


A. Have energy equal to or greater than the threshold

energy

B. Have proper orientation

C. Acquire the energy of activation

D. All

Answer: D

Watch Video Solution

517. For the elementary step 

 the

molecularity is :

A. Zero

(CH3)3

CBr(aq) → (CH)3)3
C + (aq) + Br− (aq)

https://dl.doubtnut.com/l/_ze2S0XViAwJD
https://dl.doubtnut.com/l/_5OGiLUK4fXz7


B. 1

C. 2

D. Cannot ascertained

Answer: B

Watch Video Solution

518. For a reaction ,the rate of reaction was found to

increase about .1.8 times when the temperature was

increased by  . The increase in rate is due to :

A. Increase in number of active molecules

B. Increase in activation energy of reactants

C. Decrease in activation energy of reactants

10∘C

https://dl.doubtnut.com/l/_5OGiLUK4fXz7
https://dl.doubtnut.com/l/_EJYn4Cu09wnw


D. Increase in the number of collisions between reacting

molecules

Answer: A

Watch Video Solution

519. A reaction proceeds in three stages. The first stage is a

slow and involves two molecules of reactants .The second

and third stage are fast .The overall order of the reaction is :

A. First order

B. Second order

C. Third order

D. Zero order

https://dl.doubtnut.com/l/_EJYn4Cu09wnw
https://dl.doubtnut.com/l/_L5GPchJX2NL7


Answer: B

Watch Video Solution

520. The rate of a reaction can be increased in general by all

the factors except:

A. Using a catalyst

B. Increasing the temperature

C. Increasing the activation energy

D. Increasing the concentration of reactants

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_L5GPchJX2NL7
https://dl.doubtnut.com/l/_SzgvYqmYJC0r
https://dl.doubtnut.com/l/_r47QTajLi9An


521. Which is not used in the determination of reaction

rates ?

A. Reaction temperature

B. Reactant concentration

C. Specific rate constant

D. None of the above

Answer: D

Watch Video Solution

522. The enzyme catalysed reaction is faster than metal

catalysed reaction because its activation energy is :

https://dl.doubtnut.com/l/_r47QTajLi9An
https://dl.doubtnut.com/l/_PbtNsi1lbNHz


A. Greater

B. Lower

C. Same

D. None of the above

Answer: B

Watch Video Solution

523. The given reaction

is an example of :

A. First order reaction

B. Third order reaction

C. Second order reaction

2FeCl3 + SnCl2 → SnCl4 + 2FeCl2

https://dl.doubtnut.com/l/_PbtNsi1lbNHz
https://dl.doubtnut.com/l/_daxY0cYiRdEB


D. None of above

Answer: B

Watch Video Solution

524. For producing the effective collisions the colliding

molecules must have :

A. A certain minimum amount of energy

B. Energy lesser than threshold energy

C. Improper orientation

D. Proper orientation and energy equal or greater than

threshold energy

https://dl.doubtnut.com/l/_daxY0cYiRdEB
https://dl.doubtnut.com/l/_B1atp0w7JnFu


Answer: D

Watch Video Solution

525. Equation for the half life period in first order reaction is

:

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

=
t1

2

0.602

k

=
t1

2

0.693

K

=
t1

2

K

0.693

=
t1

2

K

0.602

https://dl.doubtnut.com/l/_B1atp0w7JnFu
https://dl.doubtnut.com/l/_jhEDMNHqHDpa
https://dl.doubtnut.com/l/_oAke5WYPKlmr


526. A zero order reaction is one

A. In which reactants do not react

B. In which one of the reactants is in large excess

C. Whose rate does not change with time

D. Whose rate increases with time

Answer: C

Watch Video Solution

527. If the rate of reaction between A and B is. given by,rate

 then the reaction is :

A. First order in A

= K[A][B]n,

https://dl.doubtnut.com/l/_oAke5WYPKlmr
https://dl.doubtnut.com/l/_pwRwty2vJssR


B. order in B

C. Overall order is (1+n)

D. All are correct

Answer: D

Watch Video Solution

nth

528. Which statement about the order of reaction is correct:

A. The order 'of reaction must be a positive integer

B. A second order reaction is also bimolecular

C. The order of reaction increases with increasing

temperature

https://dl.doubtnut.com/l/_pwRwty2vJssR
https://dl.doubtnut.com/l/_ESkHnzt9teoo


D. The order of reaction can only be determined by

experiment

Answer: D

Watch Video Solution

529. is known as :

A. Ratio of equilibrium constants

B. Temperature coefficient

C. Difference in temperature of reversible reactions

D. None of the above

Answer: D

Kf ( + 10 )

Kt

https://dl.doubtnut.com/l/_ESkHnzt9teoo
https://dl.doubtnut.com/l/_gCCpCHXliARe


Watch Video Solution

530. In a reaction, the threshold energy is equal to: .

A. Activation energy + normal energy of reactants

B. Activation energy- normal energy of reactants

C. Activation energy

D. Normal energy of reactants

Answer: A

Watch Video Solution

531. The rate of reaction,  product, is

proportional to the first power of concentration of A and

A + B →

https://dl.doubtnut.com/l/_gCCpCHXliARe
https://dl.doubtnut.com/l/_ZARk2xfdzEJI
https://dl.doubtnut.com/l/_yk9HGbWLYDu9


second power of concentration B. The overall order of the

reaction is :

A. 1

B. 2

C. 3

D. Zero

Answer: C

Watch Video Solution

532. The following equation for the rate constant: indicates

that the reaction is of :

A. Second order

K = log.
2.303

t

a

a − x

https://dl.doubtnut.com/l/_yk9HGbWLYDu9
https://dl.doubtnut.com/l/_itHe1KfDoLqp


B. First order

C. Third order

D. Zero order

Answer: B

Watch Video Solution

533. For the reaction the rate law is,

rate=K[A].Which of the following statement is incorrect ?

A. The reaction follows first order kinetics

B. The  of reaction depends upon initial concentration

of reactant

A − − → B,

t1

2

https://dl.doubtnut.com/l/_itHe1KfDoLqp
https://dl.doubtnut.com/l/_esFOcWNne5A2


C. K is constant for the reaction at at constant

temperature

D. The rate law provides a simple way of predicting the

concentration of reactants and product at any time

after the start of the reaction

Answer: B

Watch Video Solution

534. The correct expression the rate of reaction of

elementary reaction ,  is:

A. 

B. 

A + B − − − → C

d = K[A]
[C]

dt

= K[B]
d[C]

dt

https://dl.doubtnut.com/l/_esFOcWNne5A2
https://dl.doubtnut.com/l/_HU3TlDIV7cur


C. 

D. 

Answer: C

Watch Video Solution

= K[A][B]
−d[A]

dt

= K[A]
−d[A]

dt

535. With respect to the figure given below which of the

following statement is correct: 

https://dl.doubtnut.com/l/_HU3TlDIV7cur
https://dl.doubtnut.com/l/_KkacIqxZ4kRf


A. for the forward reaction is C-B

B.  for the forward reaction is B-A

C. 

D. E(for reverse reaction)=C-A

Answer: B

View Text Solution

ΔE

ΔE

Eforward > Ebackward

536. A drop of solution (volume 0.05 mL) contains

mole of If the rate constant of

disappearance of  is mol  How long

would it take for  in drop to disappear :

A. .

3.0 × 10− 6 H +

H + 107 litre− 1 sec− 1

H +

6 × 10− 8 sec

https://dl.doubtnut.com/l/_KkacIqxZ4kRf
https://dl.doubtnut.com/l/_LtrqMzNAIewa


B. 

C. 

D. 

Answer: C

Watch Video Solution

6 × 10− 7 sec.

6 × 10− 9 sec.

6 × 10− 10 sec.

537. Which of the following theory, is not related to

chemical kinetics ?

A. Collision theory

B. Activated complex theory

C. Absolute reaction rate theory

D. VSEPR theory

https://dl.doubtnut.com/l/_LtrqMzNAIewa
https://dl.doubtnut.com/l/_3BgdsM36aiIo


Answer: D

Watch Video Solution

538. Which plots will give the value of activation energy ?

A. K vs T

B. 1/K vs T

C. In K vs. T

D. 

Answer: D

Watch Video Solution

InKvs
1

T

https://dl.doubtnut.com/l/_3BgdsM36aiIo
https://dl.doubtnut.com/l/_xGBy8YQB7Pyz


539. The burning of coal represented by the equation,

.The rate of this reaction is

increased by :

A. Decrease in the concentration of oxygen

B. Powdering the lumps of coal

C. Decreasing the temperature

D. Providing inert atmosphere for burning

Answer: B

Watch Video Solution

C(s) + O2(g) → CO2(g)

540. Following mechanism has been proposed for a reaction

, 

https://dl.doubtnut.com/l/_7mLVLMiGYVZc
https://dl.doubtnut.com/l/_t9RBr8JHxrKE


 ,
 The rate

law expression for the reaction

A. 

B. 

C. 

D. r=K[A][C]

Answer: B

Watch Video Solution

r = K[A]2[B]

r = K[A][B]

r = K[A]2

https://dl.doubtnut.com/l/_t9RBr8JHxrKE


541. If order of reaction , is zero .If means

that :

A. Rate of reaction is independent of temperature

B. Rate of reaction is independent of the' concentration

of the reacting species

C. ,The rate of formation of activated complex is zero

D. Rate of decomposition of activated complex is zero

Answer: B

Watch Video Solution

A + B
hv

−−→ AB

https://dl.doubtnut.com/l/_3ZUFG5QuhPwz


542. The chemical reaction, proceeds as follows: 




The rate law expression should

be :

A. 

B. 

C. 

D. Unpredictable'

Answer: B

Watch Video Solution

2O3 → 3O2

O3 ⇔ O2 + .........(f ∗ )

O + O3 → 2O2....... (slow)

r = K[O3]2

r = K[O3]2[O2] − 1

r = K[O3][O2]

https://dl.doubtnut.com/l/_Xfq8V4w8F6zk


543. A hypothetical reaction,  follows the

mechanism as given below ,

A+B2----->AB+B.......(slow)

A+BrarrAB.......(fast) The order of the reaction is :

A. 2

B. 1

C. 

D. Zero

Answer: C

Watch Video Solution

A2 + B2 → 2AB

A2 − − − → A + A....... . (f ∗ )

1
1

2

https://dl.doubtnut.com/l/_uMLQymlp6Ia8


544. For the reaction , . The variation of

the concentration of the products is given by the curve: 

A. X

B. Y

C. Z

D. W

Answer: B

W t h Vid S l ti

A + B → C + D

https://dl.doubtnut.com/l/_dTRcQzTn0CVB


Watch Video Solution

545. If the first order reaction involves gaseous reactants

and gaseous-products the units of its rate are:

A. atm

B. atm-sec

C. 

D. 

Answer: C

Watch Video Solution

atm sec− 1

atm2 − sec2

https://dl.doubtnut.com/l/_dTRcQzTn0CVB
https://dl.doubtnut.com/l/_OZ5l8m4F3VZO


546. The branch of chemistry which deals with the reaction

rates and. reaction mechanism is called :

A. Thermochemistry

B. Photochemistry

C. Analytical chemistry

D. Chemical kinetics

Answer: D

Watch Video Solution

547. For an exothermic chemical process occuring in two

steps as : , The

progress of the reaction can be described by :

A + B → X(slow) A + B → X(slow)

https://dl.doubtnut.com/l/_vJeGW0g9Tdzp
https://dl.doubtnut.com/l/_kzqJI3NyKViq


A. 

B. 

C. 

D. All are correct

Answer: A

Watch Video Solution

548. Among the following reaction the fastest one is :

https://dl.doubtnut.com/l/_kzqJI3NyKViq
https://dl.doubtnut.com/l/_sSjdE7O2JWcG


A. Burning of coal

B. Rusting of iron in moist car

C. Conversion of monoclinic sulphur to rhombic

D. Precipitation of silver chloride by mixing silver nitrate

and sodium chloride solutions

Answer: D

Watch Video Solution

549. In acidic medium the rate of reaction between

 and  ions is given by the expression.

 It means:

A. Rate constant of overall reaction is

(BrO3) −
Br−

− = K[BrO−
3
][Br− ][H + ]

2d(BrO−
3 )

dt

4 sec− 1

https://dl.doubtnut.com/l/_sSjdE7O2JWcG
https://dl.doubtnut.com/l/_6t1CaFLHCupS


B. Rate of reaction is independent of the cone.of acid

C. The change in pH of the solution will not affect the

rate

D. Doublic the cone, ofH^+` ions will increase the

reaction rate by 4’times

Answer: D

Watch Video Solution

550. Chemical reaction occurs as a result of collisions

between reacting molecules. Therefore, the reaction rate is

given by:

https://dl.doubtnut.com/l/_6t1CaFLHCupS
https://dl.doubtnut.com/l/_ARBdEx0hEOPd


A. Total number of collisions occuring in a unit volume

per second

B. Fraction of molecules which possess energy less than

the threshold energy

C. Total number of effective collisions

D. None of the above

Answer: C

Watch Video Solution

551. The activation energies of two reactions are  and

with  if the temperature of the reacting systems is

increased from to , predict which alternative is correct k

Ea Ea

Ea > Ea

T1 T2

https://dl.doubtnut.com/l/_ARBdEx0hEOPd
https://dl.doubtnut.com/l/_YmsIMRJjGnsP


are rate constants at higher temperature. Assume A being

same for both the reactions:

A. 

B.  and 

C.  and 

D. 

Answer: B

Watch Video Solution

=
k1

k2

k2

k2

k1 < k2 k1 < k2

k1 > k2 k1 > k2

=
k1

k2

2k2

k2

552. For the decomposition of , it is given that :

,Activation energy 

N2O5(g)

2N2O5(g) → 4NO2(g) + O2(g)

https://dl.doubtnut.com/l/_YmsIMRJjGnsP
https://dl.doubtnut.com/l/_zoesfASh2vN3


,Activation energy

then:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

EaN2O5(g) → 2NO2(g) + ( )O2(g)
1

2

Ea

Ea = Ea

Ea > Ea

Ea < Ea

Ea = 2Ea

553. For the reaction:

the

net rate of reaction at any time is given by :net rate =

[Cu(NH3)4]
2 +

+ H2O → [Cu(NH3)3H2O
2 + +NH3

https://dl.doubtnut.com/l/_zoesfASh2vN3
https://dl.doubtnut.com/l/_xjzm8YlN0e8i


. Then correct statement is (are):

A. Rate constant for forward reaction

B. Rate constant for backward reaction

C. Equilibrium constant for the reaction

D. All

Answer: B

Watch Video Solution

2.0 × 10− 4[[Cu(NH3)4]
2 +

− 3.0 × 105[[Cu(nh3)3H2O]
2 +

]

[NH3]

= 2 × 104

= 3 × 105

= 6.6 × 1010

554. Which is correct relation in between and

where C,n,P, represents concentration ,mole and pressure

terms for gaseous phase reactant A(g)rarr product.

,
dC

dt

dn

dt

dP

dt

https://dl.doubtnut.com/l/_xjzm8YlN0e8i
https://dl.doubtnut.com/l/_F4fH7pFVFQ9B


A. 

B. 

C. 

D. All

Answer: A

Watch Video Solution

− = − = −
dC

dt

1

V

dn

dt

1

RT

dP

dt

= = −
dC

dt

dn

dt

dP

dt

= = − (dP )dt
dC

dt

RT

V

dn

dt

555. Rate of a reaction :

A. Increases with increase in temperature

B. Decreases with increase in temperature

C. Does not depend on temperature

https://dl.doubtnut.com/l/_F4fH7pFVFQ9B
https://dl.doubtnut.com/l/_ADVL3lLogOrv


D. Does not depend on concentration

Answer: A

Watch Video Solution

556. The dimensions of the rate constant of a second order

reaction involves :

A. Neither time nor concentration

B. Time and concentration

C. Time and square of concentration

D. Only time

Answer: B

W h Vid S l i

https://dl.doubtnut.com/l/_ADVL3lLogOrv
https://dl.doubtnut.com/l/_i2n3SHWxV81Y


Watch Video Solution

557. The rate constant is given by the equation

which factor should register a decrease for

the reaction to proceed rapidly:

A. T

B. Z

C. A

D. 

Answer: D

Watch Video Solution

K = Ae−Ea/RT

Ea

https://dl.doubtnut.com/l/_i2n3SHWxV81Y
https://dl.doubtnut.com/l/_RySAFH0A1TjW


558. For the reaction , ,the

reaction` rate=K[H2][Br2]^1/2. Which statement is true about

this reaction:

A. The reaction is of second order

B. Molecularity of the reaction is 3/2

C. The unit of K is 

D. Molecularity of the reaction is 2

Answer: D

Watch Video Solution

H2(g) + Br(g) = 2HBr(g)

sec− 1

559. Which curve represents zero order reaction:

https://dl.doubtnut.com/l/_ZTOYsCbzEA3n
https://dl.doubtnut.com/l/_9vu7kWtoCNlG


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9vu7kWtoCNlG


560. Rate equation for a second order reaction is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

K = (log)
2.303

t

a

(a − x)

K − (log)
1

t

a

a(a − x)

K − .
1

t

x

a(a − x)

K = .
1

t2

a

(a − x)

561. In Arrhenius equation  ,the quantity-

 is referred as :

K = Ae−Ea/RT

Ea/RT

https://dl.doubtnut.com/l/_9vu7kWtoCNlG
https://dl.doubtnut.com/l/_ni7JMRUMdxQS
https://dl.doubtnut.com/l/_2vMdIPydl8gC


A. Boltzmann factor

B. Frequency factor

C. Activation factor

D. None of the above

Answer: A

Watch Video Solution

562. The temperature coefficient of most of the reaction lies

between:

A. 1 and 3

B. 2 and 3

C. 1 and 4

https://dl.doubtnut.com/l/_2vMdIPydl8gC
https://dl.doubtnut.com/l/_w62MJ2bHjdZe


D. 2 and 4

Answer: B

Watch Video Solution

563. Alkali hydrolysis of ester is a first order reaction .is it

true or false

A. 

B. 

C. 

D. 

Answer: A

W h Vid S l i

NH4NO2 → N2 + 2H2O

2HI ⇔ H2 + I2

2NO2 → 2NO + O2

2NO + O2 → 2NO2

https://dl.doubtnut.com/l/_w62MJ2bHjdZe
https://dl.doubtnut.com/l/_zkE0njIbcWyt


Watch Video Solution

564. Rate equation is the expression that gives the relation

between rate of reaction and :

A. Temperature

B. Concentration of products

C. Concentration of reactants

D. None of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_zkE0njIbcWyt
https://dl.doubtnut.com/l/_flXYdX3nrxeD

